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The following table shows the distance travelled by a boat moving upstream (in km) during five
different days of a week from Monday to Friday, along with the speed of boat (in km/hour), speed
of stream (in km/hour) and total time taken (in hours). Some data is missing in the table (indicated
as ') that you are expected to calculate, if required. Based on the data in the table, answer the
questions that follow.

Day-Wise Distance covered by a Boat and other Details

D Distance Speed of Speed of Total Time

i Upstream(km)|Boat(kmyhour)| Stream(km/hour) [Taken(hours)
Monday 320 - 4 -
Tuesday - - - 75
Wednesday 270 - 6 -
Thursday - 11 7 -
Friday 324 - - 72

Note: (1) Distance Upstream = Distance Downstream, if not stated otherwise
(2) Total Time Taken = Downstream Time + Upstream Time



Sub questions

Question Number : 1 Question Id : 87827040748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

On Friday, if the ratio of speed of boat to speed of stream is 2 : 1, then what is the difference
between the time taken by the boat to go upstream and to go downstream ?
(1) 36 hours

(2) 42 hours
(3) 45 hours
(4) 35 hours

Options :

878270160041. 1
878270160042. 2
878270160043. 3

878270160044. 4

Question Number : 2 Question Id : 87827040749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Monday, if the difference between the time taken by the boat to go upstream and to go
downstream is 20 hours, then what is the total time taken by the boat to go upstream and
downstream ?

(1) 40 hours

(2) 30 hours
(3) 80 hours
&

4) 60 hours

Options:
878270160045. 1

878270160046. 2

878270160047. 3



878270160048. 4

Question Number : 3 Question Id : 87827040750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Tuesday, if the difference between the time taken by the boat to go upstream and downstream
is 45 hours and the downstream speed is 24 km/hour, then what is the total distance covered by
the boat to go upstream and downstream ?

(1) 680 km

(2) 720 km
(3) 740 km
(4) 540 km
Options :

878270160049. 1
878270160050. 2
878270160051. 3

878270160052. 4

Question Number : 4 Question Id : 87827040751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Wednesday, if the boat covered half of the distance upstream with usual speed and other half

3
with double its speed and it takes 331 hours less time the usual time to go upstream, then what is

the total time taken by the boat to go upstream and downstream ?
(1) 128 hours

2) 120 hours
3) 108 hours
)

(
(:
(4) 92 hours

Options:

878270160053. 1



878270160054. 2
878270160055. 3

878270160056. 4

Question Number : 5 Question Id : 87827040752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Thursday, the difference between the time taken by the boat to cover X km upstream and
(X+120) km downstream is 26 hours. Had the boat covered the same distance upstream as
downstream, then what would have been the difference in the time taken ?

(1) 58 hours

(2) 62 hours
(3) 48 hours
(4) 56 hours
Options :

878270160057. 1
878270160058. 2
878270160059. 3

878270160060. 4

Question Id : 87827040747 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Question Number : 1 Question Id : 87827040748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270160041. 1
878270160042. 2
878270160043. 3



878270160044. 4

Question Number : 2 Question Id : 87827040749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270160046, 2
878270160047. 3

878270160048. 4

Question Number : 3 Question Id : 87827040750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270160051. 3

878270160052. 4

Question Number : 4 Question Id : 87827040751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270160053. 1
878270160054. 2
878270160055. 3

878270160056. 4

Question Number : 5 Question Id : 87827040752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270160057. 1
878270160058. 2
878270160059. 3
878270160060. 4
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Question Number : 6 Question Id : 87827040753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following tools can be used for virtual labs and simulations ?

(I) Plotagon

(2) Wakelet
(3) PhET Interactive Simulations
(4) Flipgnd

Options :

878270160061. 1
878270160062. 2
878270160063. 3

878270160064. 4



Question Number : 6 Question Id : 87827040753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160061. 1
878270160062. 2
878270160063. 3
878270160064. 4

Question Number : 7 Question Id : 87827040754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is the driving force for students’ commitment, engagement and perstistence
in self-directed learning ?

) Fixation

) Motivation

) Metacognition
) Assessment
Options:
878270160065. 1
878270160066. 2
878270160067. 3

878270160068. 4



Question Number : 7 Question Id : 87827040754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270160065. 1
878270160066. 2
878270160067. 3

878270160068. 4

Question Number : 8 Question Id : 87827040755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Passive style is a way of dealing with conflict in which people are nonassertive
and submissive and don't let others know what they want.

Statement I :  Manipulative style is a way of dealing with conflict in which people try to get
what they want by making others feel guilty for them.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct

Options:



8782701600609. 1
878270160070. 2
878270160071. 3

878270160072. 4

Question Number : 8 Question Id : 87827040755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160069. 1
878270160070. 2
878270160071. 3

878270160072. 4
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Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When students, who have learned to type on a typewriter, transfer this skill to typing ona computer
keyboard, it is an example of learning ?
(1) Far transer

2

High-road transfer

(
(3
(

)
3)  Near transfer
)

}

Low-road transfer
Options:
878270160073. 1
878270160074. 2
878270160075. 3
878270160076. 4

Question Number : 9 Question Id : 87827040756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270160073. 1
878270160074. 2
878270160075. 3

878270160076. 4

Question Number : 10 Question Id : 87827040757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which factor plays a crucial role in creating an effective learning environment ?
(I) Teacher's qualification

(2)  Availability of instructional facilities
(3) Focus on foreign language use
(4) admission to students from elite class

Options :

878270160077. 1
878270160078. 2
878270160079. 3

878270160080. 4

Question Number : 10 Question Id : 87827040757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270160077. 1
878270160078. 2
878270160079. 3

878270160080. 4

Question Number : 11 Question Id : 87827040758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Iclent'Lfy the software that would be useful for statistical anaJysis of data generated In a research
study :

(A) SPSS

(B) Ithenticate

(C) MINITAB

(D) R

Choose the correct answer from the options given below :
() (A), (B) and (C) Only

) (B), (C) and (D Only

) (A), (C) and (D) Only

) (A)

4 (A), (B)and (D) Only

2
(3
(
Options:
878270160081. 1
878270160082. 2
878270160083. 3

878270160084. 4

Question Number : 11 Question Id : 87827040758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270160081. 1
878270160082. 2
878270160083. 3

878270160084. 4

Question Number : 12 Question Id : 87827040759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : The quantitative content analysis in social science research is a very transparent
research method.

Statement (II) : The quantitative content analysis is often referred to as obtrusive method.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

878270160085. 1

878270160086. 2

878270160087. 3

878270160088. 4

Question Number : 12 Question Id : 87827040759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270160085. 1

878270160086. 2

878270160087. 3

878270160088. 4

Question Number : 13 Question Id : 87827040760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of a published research article, DOI stands for :

(1

) Data Object Integration
(2) Digital Object Identifier
(3) Data Object Interface
(4) Digital Object Interface
Options :

878270160089. 1
878270160090. 2
878270160091. 3

878270160092. 4

Question Number : 13 Question Id : 87827040760 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160089. 1
878270160090. 2
878270160091. 3

878270160092. 4

Question Number : 14 Question Id : 87827040761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following measures would be useful for commenting upon the degree of asymmetry
in a statistical distribution ?

(1
(2
(3
(

Central tendency

Kurtosis

4)  Skewness

; Dispersion
)

)

Options:
878270160093. 1
878270160094. 2
878270160095. 3

878270160096. 4

Question Number : 14 Question Id : 87827040761 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270160093. 1
878270160094. 2
878270160095. 3

878270160096. 4

Question Number : 15 Question Id : 87827040762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represents the meaning of the abbreviation “vide” used inacademic
writing ?

(I) against

(2) width

(3) refer to

o

namely
Options:
878270160097. 1
878270160098. 2
878270160099. 3

878270160100. 4



Question Number : 15 Question Id : 87827040762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160097. 1
878270160098. 2
878270160099. 3

878270160100. 4

Question Number : 16 Question Id : 87827040763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A kind of fixation with medium itself is ::nnceptualised as :

(1) Hypermediacy

(2) Immediacy

(3) Media tendency

(4) Multi-mediacy
Options :

878270160101. 1
878270160102. 2
878270160103. 3

878270160104. 4

Question Number : 16 Question Id : 87827040763 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270160101. 1
878270160102. 2
878270160103. 3

878270160104. 4

Question Number : 17 Question Id : 87827040764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The cyberspace is normally compared to a type of electronic :
(1) Screen
(2) Salon
(3) Complex
)

(4) Agora

Options:

878270160105. 1
878270160106. 2
878270160107. 3

878270160108. 4

Question Number : 17 Question Id : 87827040764 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270160105. 1
878270160106. 2
878270160107. 3
878270160108. 4

Question Number : 18 Question Id : 87827040765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true in respect of communication ?
(A) Communicated meanings are always ambiguous.

(B) Words are symbols for concepts.

(C) Labels may be ambiguous.

(D) Symbols are usually understood within a group.

(E) Sharing of meaning is not possible in communication.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3)  (C), (D) and (E) Only
(4) (A), (B) and (E) Only

Options :
878270160109. 1
878270160110. 2

878270160111. 3



878270160112. 4

Question Number : 18 Question Id : 87827040765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

8782701601009. 1

878270160110. 2

878270160111. 3

878270160112. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (I) : Communication cannot reflect the cultural conduct of people
Statement (II) : Communication is a practice integral to formation of social life

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270160113. 1

878270160114. 2

878270160115. 3

878270160116. 4

Question Number : 19 Question Id : 87827040766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) YT 13 AR 11 S T §

(3) YT TR &, Wifehd e 11 7Terd ¢

(4) U T &, TR HOR LT &

Options :

878270160113. 1

878270160114. 2

878270160115. 3



878270160116. 4

Question Number : 20 Question Id : 87827040767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I Communication is a social process in which people use symbols to interpret
meanings in their own environment

Statement 11 : Peoplte and their inferactions are not part of the communication process, because
communication cannot be social

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement Il are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 11 is correct
Options :

878270160117. 1

878270160118. 2

878270160119. 3

878270160120. 4

Question Number : 20 Question Id : 87827040767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:ﬂﬁﬂwﬁqw%:
O] T T HI Tiha ¢ o am or W o e H o fuR e o o

1 37 F B
O 11 ; G T 37 vl T e s e =k feen e 2t & e i At 76 @
T |

TG o S §, A9 o T fommed | o U S T I
(1) o1 S o 1 3 9

() 1SR FIR 11 e ¢

() F IR ¢, olfod RO 1T ¢

(4) UL ¢, Tl FUT Il €

Options:

878270160117. 1
878270160118. 2
878270160119. 3

878270160120. 4

Question Number : 21 Question Id : 87827040768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A car starts running with the initial speed of 50 km/hour, with its speed increasing every hour by

5 km per hour. How many hours will it take to cover a distance of 630 km ?

(1) 7 hours

(2) 9 hours

(3) 6 hours

(4) 8 hours
Options :
878270160121. 1
878270160122. 2
878270160123. 3

878270160124. 4



Question Number : 21 Question Id : 87827040768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T &R 50 foesie o sfors i @ SR e e 6 g R 5 e e U e 71 630 el
H g A 2 e s )
(1) 7%
) 9%
3) 6%
4) §¥
Options :
878270160121. 1
878270160122. 2
878270160123. 3

878270160124. 4

Question Number : 22 Question Id : 87827040769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a factory, the average salary of the employees is ¥ 7000. If the average salary of 12 officers is
< 40000 and that of the remaining employees is ¥ 6000, then the number of employees is :

(1) 402

(2) 404

(3) 406
(

4) 408

]

)
)
)

Options:

878270160125. 1
878270160126. 2
878270160127. 3

878270160128. 4



Question Number : 22 Question Id : 87827040769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ot Wt o A 0 ol 9 27000 §1 A 12 fonfel @ e oM % 40000 S S
T 1 S0 A 2 6000 2, T FHA o G e
(1) 402
(2) 404
(3) 406
(4) 408
Options :
878270160125. 1
878270160126. 2
878270160127.3

878270160128. 4

Question Number : 23 Question Id : 87827040770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum of three numbers is 124. If the ratio between the first and the second is 2: 3 and between
the second and the third is 7 : 9, then the third number is :

(1) 48

(2) 54
(3) 64
(4)

]

4) 66

Options:

878270160129. 1
878270160130. 2
878270160131. 3
878270160132. 4



Question Number : 23 Question Id : 87827040770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

A1 Teel 301 124 %1 4 Vel 4R gt T o o SR 2:3 € A4 T SR e it e
7:9% 9 dd Hem @
1) 48
(2) 54
(3) 64
(4) 66
Options :
878270160129. 1
878270160130. 2
878270160131. 3

878270160132. 4

Question Number : 24 Question Id : 87827040771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What will be the value of P in the fﬂll(mfing number series ?
2. 38 5. B s

(1) 3120
7. S 74
(3) 2045
(4) 630
Options:

878270160133. 1
878270160134. 2
878270160135. 3
878270160136. 4



Question Number : 24 Question Id : 87827040771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafea s s@en § P =1 7 foFawn gm 2

(), 2, 28 Fad, By o

(1) 3120
(2) 1029
(3) 2045
(4) 630
Options :

878270160133. 1
878270160134. 2
878270160135. 3
878270160136. 4

Question Number : 25 Question Id : 87827040772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The cost price of an article is 75% of its marked price for sale. How much percent does the trades-
man gam after a]lowing a discount of 15% ?
(1) 20%

1
13-%
) B

(3) 10%

Options:
878270160137. 1
878270160138. 2

878270160139. 3



878270160140. 4

Question Number : 25 Question Id : 87827040772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
forel o 91 TR e 3 forh o fer T 1 75% 1 15% F 92 ¢ F v AR A R
e 2 T 2
(1) 20%
1

) 13=%
o 1
(3) 10%

2
15=%

@ b3
Options :

878270160137. 1
878270160138. 2
878270160139. 3

878270160140. 4

Question Number : 26 Question Id : 87827040773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are so related that they cannot both be true, nor can they both

be false ?

(A) All mammals are vertebrates.

(B) Some mammals are vertebrates,
(C) Some mammals are not vertebrates.
(D) No mammals are vertebrates.

Choose the correct answer from the options given below :
() (A)and (B) Only

(2) (B) and (D) Only

(3) (C) and (D) Only
(4) (A) and (D) Only
Options:
878270160141. 1
878270160142. 2
878270160143. 3

878270160144. 4

Question Number : 26 Question Id : 87827040773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feeeferfin o § 9 9 97 39 Te W TG & 6 o O 9 T @ o € AR T S B WA €
(A) T TR Fe €

(C) T8 T FH T ¢

(D) 13 Sf Tt ] T |

7 feu T foered % 9 W SR T i
A (A) 4 (B)

Options :



878270160141. 1
878270160142. 2
878270160143. 3

878270160144. 4

Question Number : 27 Question Id : 87827040774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logically equivalent to the statement - “All rectangles are
polygon” ?

(I) Some rectangles are polygon.

(2
(
(

No reclzmgles are nonapalvgnn.

s |

}

; No non-rectangles are non-polygon.
) All non-polygons are rectangles.
Options :

878270160145. 1

878270160146. 2

878270160147. 3

878270160148. 4

Question Number : 27 Question Id : 87827040774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frfefan # 8 #F 7 F97 Tk T F 30 F97 % q0ged ¢ - 9 A T ¢ ?

(1) T 3790 g4 &

() ot S TR-a e T B
(3) I ot o TR-agye I ¢
(4) Tl -G ST ¢ |

Options :



878270160145. 1
878270160146. 2
878270160147. 3

878270160148. 4

Question Number : 28 Question Id : 87827040775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increasing intension :
(A) Cheese

(B) Dairy product

(C) Soft Cheese

(D) Strong soft cheese

Choose the correct answer from the options given below :

(1) (B), (A), (©), (D)

(2) (B), (D), Q) (A)
(@) (D) (), B), (A)
4) (D) (O (A) (B)

Options :

878270160149. 1
878270160150. 2
878270160151. 3

878270160152. 4

Question Number : 28 Question Id : 87827040775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



ffefiaa gl =l Toned % TRl A H Hared Hifg
(A) TR

(B) g™ SIS

(©) ¥g TR

(D) it §g TR

= feu v fasredi § 9 9 39T & =9IH HifeU

(1) (B), (A), (©), (D)

(2) (B), (D), (O), (&)
(3) (D) (©), (B), (A)
4) (D) (©), (A) (B)
Options:

878270160149. 1
878270160150. 2
878270160151, 3

878270160152. 4

Question Number : 29 Question Id : 87827040776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Political stabﬂit}r s indispensable to economic progress because economic progress can 011l_v be
achieved by means of political stability” Which informal fallacy is committed in the above
statement ?

(I) Slippery Slope

(2) Red Herring

(3) Hasty Generalisation
(4) Begging the question
Options :
878270160153. 1
878270160154. 2
878270160155. 3

878270160156. 4



Question Number : 29 Question Id : 87827040776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" e e enfeler e ¥ e arfterd & it snfo wfe St Trovifo o 3 et 2 €1
% 9 Gl ¢ 1" S0 F B T SR T ¢

(1) TR Bem

(2) Ve Heokd (T2 &)
(3) ot qER
(4) ST g
Options :
878270160153. 1
878270160154. 2
878270160155. 3

878270160156. 4

Question Number : 30 Question Id : 87827040777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The proposition “The hill has fire because it is knowable” commits the fallacy of
the irregular middle,

Statement I :  The proposition “Sound is eternal, because it is audible” commits the fallacy of
the irregular middle.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement II is correct

Options:



878270160157. 1
878270160158. 2
878270160159. 3

878270160160. 4

Question Number : 30 Question Id : 87827040777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁﬁwmﬂﬁﬁz

FUA1: 79 yfoara e W e € FifE T ga e e ver 1 R B
HOT ;35 Yfosfta ' 3 wver , TF 7 45 ' H afafid wed o e g
IR FUA F S 8, e fou 0 fored § ¥ e SURgE I H T H ;
(1) S 3R w1 I T &

() WA 1 3R H 1 T e €

(3) U LTI &, ek oM 117 @

(4) Y 1TEM &, Tl e 11 7 ¢

Options :

878270160157. 1

878270160158. 2

878270160159. 3

878270160160. 4

Question Number : 31 Question Id : 87827040778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I :  Google is a web search engine, while google chrome is a web browser.
Statement I1:  Microsoft Edge is a web search engine, while Microsoft Bing is a web browser.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270160161. 1

878270160162. 2

878270160163. 3

878270160164. 4

Question Number : 31 Question Id : 87827040778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T FARUME

FATL: 70 TF o G 35 ¢ STl T M o6 A1 ¢ |

HUT I TEFHIGR U UF 96 9 39 ¢ ek HIsshaie fam U od e § |
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) YT TR &, Wifehd e 11 7Terd ¢
(4) U T &, TR HOR LT &
Options :

878270160161. 1

878270160162. 2

878270160163. 3



878270160164. 4

Question Number : 32 Question Id : 87827040779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the fnllnwing memory hieral'ch}; diagl'am:

Cache
Memory

f s 3
/ Solid State Storage \

11

/ Optical Disk Storage \
/ . \

Which of the following memories A-D represent [, II, [Il and IV (in that order) ?

Increase in Cost per bit
Increase in Access Time

(A) Magnetic Tape

(B) Magnetic Hard Disk

(C) Random Access Memory

(D) Processor Registers

Choose the correct answer from the options given below :
(1) D) (C), (A) (B)

() (4), () (©) D)
() (B) () (D), (A)
@) @) (©), ({B) (4)
Options :
878270160165. 1

878270160166. 2



878270160167. 3
878270160168. 4

Question Number : 32 Question Id : 87827040779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfiea #ar | sme R/ fo=r #ifs ;

yfa fae =rma ° afg
S
&
7
il
st wa § gfg

T

Ly

/ v \
frfafiad o | 9 9 560 A-D (35 FH ) 11, 11 SRV i 97 & 7
(A) Fraw 2

T we feeh
(C) =W UaEd HAN
(D) 9rHER Tseed
A9 fou o foepedi H 9 W@ SR F1 T9H FIf9C

(1) (D) (©), (A) (B)
) (A), (B), (C), (D)
) (B), (O (D), (4)
) (D) (©) (B), (A)

(2
(3
(4

Options :



878270160165. 1
878270160166. 2
878270160167. 3

878270160168. 4

Question Number : 33 Question Id : 87827040780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - 1I
(ICT Term) (Definition)
(A) Firewall (I)  Used torememberuser’s preferences each time they visit websites

(B) Digital certificate  (I) Hardware or software that sits between a user's computer and
an external network, which filters data coming to and from the

computer

(C) Cookies (IIT) Software, firmware or hardware that creates and runs a virtual
machine

(D) Hypervisor (IV) Pairs of files stored on user’s computer; each pair contains a

pub]ic l(E}’ and private key
Choose the correct answer from the options given below :

(1) (AM, B)-(), (CHIV), (DHI)

(@ (AH), (BHIV), (C)(I), (DA
(3) (AL, B)-V), (©)-(), (D)
(@) (AHII), BHLV), (©-{1), DK)
Options :

878270160169. 1
878270160170. 2
878270160171. 3

878270160172. 4

Question Number : 33 Question Id : 87827040780 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 o 91 G-I 1 e it

T I
(am & w) (e

(A) wETa () R a9 W T F e P A% T % fou |

() fefwed WM () IR A WIS S YA % F S AR Tea & we feem
I € S 92§ -9 9t 2R A et 0 ¢

€ F#H (L1 oI, ol 21 BIE i STt 79T 157 0 & A Seffera
G201

(D) R (IV) IR % FE W AT Tel & g, T g Wt
%o o Pt of 2 &1

1 feu U ol W § W& S 1 7 T

(L) (AH, B)-), (CHLV), (DHII)

@ (A-D, BHIV), C)(L), (DHII)

() (A)I), B)-[V), (C-(1) (D))

(4)  (AM), BHIV), (©-{1), D}

Options :

878270160169. 1
878270160170. 2
878270160171. 3
878270160172. 4

Question Number : 34 Question Id : 87827040781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following Ms-Excel work sheet :

A B C
1 | Month |Number of classes taught | Payments (in ¥ ) made @ 1500 per class
2 | January 20 30000
3 | February 14 21000
4 | March 17 25500
5 | April 13 19500
6 May 12 18000
7 | June 15 22500

The value returned by the function

=SUMIFS (C2 : C7, B2 : B7, “>13", C2.: C7, “>22500") is :
) 78000
) 76500
) 99000
)

55500

Options:

878270160173. 1
878270160174. 2
878270160175. 3

878270160176. 4

Question Number : 34 Question Id : 87827040781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafaa Ms-Excel 95 ¥ie W foam #ifew :

A B C
i - ST T RN | Uedeh hell & 1500 FUY & femma
! weaT ® feram e ypram (T H)
2 | weh 20 30000
3 ETCH 14 21000
1 e 17 25500
5 T 13 19500
6 7 12 18000
7 E4 15 22500
et
=SUMIFS (C2: C7, B2 : B7, “>13", C2 : C7, “>22500") SR U1 AM ¢ :
(1) 78000
(2) 76500
(3) 99000
(4) 55500
Options:

878270160173. 1
878270160174. 2
878270160175. 3
878270160176. 4

Question Number : 35 Question Id : 87827040782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements with refers to the different number systems :
Statement [ : (0.68?5)10 — (I].'lﬁll)2
Statement 11 (111011.1[]1)2 = (58.(325)10

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270160177. 1

878270160178. 2

878270160179. 3

878270160180. 4

Question Number : 35 Question Id : 87827040782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fafir dem yonferdi o e ® & Fom faw g
FEL: (0.6875), = (0.1011),
FITM:  (111011.101), = (38.625),
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) FETIE &, ol HYT 1 Tewd @
(4) U T &, TR HOR LT &
Options :
878270160177. 1
878270160178. 2

878270160179. 3



878270160180. 4

Question Number : 36 Question Id : 87827040783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Photovoltaic cells produce Alternating current (a.c.).

Statement II:  Photovoltaic cells are exposed directly to the sun, therefore as temperature rises
leakage accross the cell increases.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement | is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270160181. 1

878270160182. 2

878270160183. 3

878270160184. 4

Question Number : 36 Question Id : 87827040783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fﬁﬁﬂ@ﬂﬁ'@ﬂ%‘:

T TR T Ve T (TA,) 3 g

TR :  HRETT S W v () B senfd 2 €, o 5 avm A o 2 T i E
R-R fra) o o £

T 9 & AR H, T 30 T forpedl o U S T I

(1) HOR S FR T T4 €

(2) YR 1 30 e 11 EFf e

(3) ORI ¢, oo R 117Tew ¢

(4) IR 1T ¢, T ehem 11 81 ¢

Options:

878270160181. 1

878270160182. 2

878270160183. 3

878270160184. 4

Question Number : 37 Question Id : 87827040784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwmg pairs of elements 1s most important for eutrophjcatinn process ?
(1) Calcium-magnesium

(2) Nitrogen-phosphorus

(3) Nickel-cobalt

(4) [rnnucnpper

Options :

878270160185. 1

878270160186. 2

878270160187. 3

878270160188. 4

Question Number : 37 Question Id : 87827040784 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

frferfigd H § 19 del 1 3 quied (Feiwy) Tkl o fou gaifes wemg & 7
(1)  Hfcamm-Hfefmm

Options :

878270160185. 1
878270160186. 2
878270160187.3

878270160188. 4

Question Number : 38 Question Id : 87827040785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The standard coagulant in water reatment is ?
(1) Hypochloride
(2) Chlorine

(3) Aluminium
(4) Alum
Options:

878270160189. 1
878270160190. 2
878270160191. 3

878270160192. 4

Question Number : 38 Question Id : 87827040785 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el ieA W W% THeF ¢

Options :

878270160189. 1
878270160190. 2
878270160191. 3

878270160192. 4

Question Number : 39 Question Id : 87827040786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : PM, is preferred over Total Suspended Particles (TSP) for air quality monitoring
studies.

Reason (R):  Particles larger than 10 micron are better indicator of potential health effects of
particulate air pollution.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270160193. 1

878270160194. 2



878270160195. 3

878270160196. 4

Question Number : 39 Question Id : 87827040786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1) (A) ¥ (R) S W& & 3R (R), (A) F TE €A €

D) (A) 8 (R) ST &1 &, WA (R), (A) H 9K A T

3) (A) T € o (R) TE T €

4 (A)T W S Ol (R) T B

Options :

(
(
(
(

878270160193. 1
878270160194. 2
878270160195. 3

878270160196. 4

Question Number : 40 Question Id : 87827040787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  The Richter Scale measures not only the intensity of earthquake itself, but its
impact on people too.

Statement Il ;  The modified Mercalli scale measures the Earthquake in terms of energy released.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270160197. 1

878270160198. 2

878270160199. 3

878270160200. 4

Question Number : 40 Question Id : 87827040787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) R 1T ¢, A o 1R
Options :

878270160197. 1
878270160198. 2



878270160199. 3
878270160200. 4

Question Number : 41 Question Id : 87827040788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Open universities was established in accordance with the National Education
policy, 1986 :

(I) Dr. BR Ambedkar Open University, Heyderabad

(2) Indira Gandhi National Open University, Delhi

(3) Karnataka State Open University, Mysore

(4)  Yashwant Rao Chavan Maharashtra open University, Nasik
Options :

878270160201. 1

878270160202. 2

878270160203. 3

878270160204. 4

Question Number : 41 Question Id : 87827040788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

friferfad W | @i 99 fovafarey TR e i, 1986 % STER wif faan @ a7

(1) Ealam, seres fovafmmem, s

(2) 3w el i e fevafeeren, feeeh

(3) e T5d W favaifareer, W

(4) TIEd Te TR HEE oK foafererd, TEeH

Options :
878270160201. 1

878270160202. 2



878270160203. 3

878270160204. 4

Question Number : 42 Question Id : 87827040789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following universities in ancient India had six colleges each under them and had a lot
of exchange of ideas between them ?

(A) Sridhanya katak

(B) Nalanda

(C) Takshashila

(D) Vikramashila

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (D) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options :

878270160205. 1
878270160206. 2
878270160207. 3

878270160208. 4

Question Number : 42 Question Id : 87827040789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(4) o (4) 4 (D)
Options :

878270160205. 1
878270160206. 2
878270160207. 3

878270160208. 4

Question Number : 43 Question Id : 87827040790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the establishment of following universities in India :
(A) Agra University
(B) Delhi University
(C) Nagpur University
(

(

e

D) Andhra University

E) University of Calcutta
Choose the correct answer from the options given below :
(M) @) (©) (A), E) )
@ () (®) (), D), (A)
@) (€, (D), (A), (E) (B)
() (A),(E), (), D) €
Options:
878270160209. 1
878270160210. 2
878270160211. 3

878270160212. 4

Question Number : 43 Question Id : 87827040790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
R o fAfaiga fayafoeredl i 3T T & HIesraTaR W :
(A) R faveEfeEmer™
(B) fecedt favafaamc
(C) AR fergafer=me
(D) 3 fevafeamTy
(E) et favafaare
e fou 7 foskedi § ¥ W ST A1 FF9 FHINT

(1) (B), (©) (A), (E), (D)
2 (B (B) (C) (D), (A)
(3)  (©), (D) (A), (E), (B)
@) (A) (B, B), D) ©



Options :

878270160209. 1
878270160210. 2
878270160211. 3
878270160212. 4

Question Number : 44 Question Id : 87827040791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - I1.

List - I List - II
(Commission/Committee) (Focus area)
(A) Sadler Commission (I)  Functioning of UGC and AICTE
(B) Hartog Committee (I}  University education in India
(C) Radhakrishnan Commission ~ (Ill) Comprehensive report on education in India
(D) Yashpal Committee (IV) Functioning of Calcutta university

Choose the correct answer from the options giuen below :

(1) (AHID, B, C)-(1), (D}-IV)

(2) (A, (B)IV), (CH(H), (D)-(1)
(3)  (AMI), (B)-(I), (CH1V), (D)(IL)
(4)  (AHIV), (BHI), (CHI), (D))
Options :

878270160213. 1
878270160214. 2
878270160215. 3
878270160216. 4

Question Number : 44 Question Id : 87827040791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |19 Gelt-11 =1 fiei IS
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( T afafa) (WIHH &)
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(B) @2 Hfufd (1) vRa ¥ favafaeme faen
(C) THFOH HEM (II1) I o v 9¥ =2mge e
(D) =TTl Wiwfd (IV) el favafaered &1 wraeEt
At foau U fospedi H § W& I FH TAH HIWC ;

(1) (A)-(1D), (B)-(D), (©)-(), (D)-(IV)
(2)  (A)-(II), (B)-(IV), (C)-(II), (D)-(D)
B)  (A)-(0), (B)-(I), (O-(1V), (D)AII)
(4)  (A)-(IV), (B)(IL), (C)-(1T), (D)-(I)
Options :

878270160213. 1

878270160214. 2

878270160215. 3

878270160216. 4

Question Number : 45 Question Id : 87827040792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Financing higher education in a country like India depends upon availability of
resources and other financial implications.

Statement II:  According to NEP 2020, funding and financing of higher education will be carried
out by the second vertical of Higher Education Commission of India i.e, Higher
Education Grants Council.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement II is incorrect
(

Options:

878270160217. 1

878270160218. 2

878270160219. 3

878270160220. 4

Question Number : 45 Question Id : 87827040792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160217. 1
878270160218. 2
878270160219. 3
878270160220. 4

Sub-Section Number : 3
Sub-Section Id : 8782701709
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827040793 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Tiger reserves are an important part of our tourism industry. There are 42 declared tiger reserves
in India which are generally operated by state forest departments. Indian tiger, also known as
Bengal tiger is the national animal of India. Its scientific name is Panfliera tigris tigris. Tigers are
maintained in reserves for their scientific, economic, aesthetic, cultural and ecological values and
they are kept as national heritage for the education and enjoyment of the people.

But in recent years tiger tourism has become a troublesome issue due to the rapid growth of killing
of tigers due to illegal poaching. This ia a wakeup call not only for the department of tourism but
also for the various wildlife organisations and other governing bodies. Since the governments have
failed to implement adequate enforcement response and investigations, wildlife crimes have increased
by years. Today there are some activists and environmentalists who are demanding a complete
ban on public access to wildlife reserves. But such a complete ban would be a setback.

There is no question that commercial tourism must be strictly regulated, however a complete ban
would be an extremely harmful step, as it will negatively impact conservation education, monitoring
and other conservation activities.

Sub questions

Question Number : 46 Question Id : 87827040794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Tiger tourism has become a problem in recent years because :
(1) There are too many tigers

(2) Tigers kill people

(3) Tourists disturb tigers

(4) There is illegal poaching of tigers
Options :

878270160221. 1
878270160222. 2
878270160223. 3

878270160224. 4

Question Number : 47 Question Id : 87827040795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Solution to the problem of wild life crimes can be found by :
(1) Banning public access to wildlife reserves

(2) Banning tiger tourism

(3) Regulating commercial tourism

(4) Curtailment of wild life population

Options :

878270160225. 1

878270160226. 2

878270160227. 3

878270160228. 4

Question Number : 48 Question Id : 87827040796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A pmtected area for animals, plaﬂls etc. is called :

(1) A Reserve
(2) A Forest

(3) Countryside
(4) Cantonment

Options:

878270160229. 1
878270160230. 2
878270160231. 3

878270160232. 4

Question Number : 49 Question Id : 87827040797 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tigers are kept in reserves for the fDllDw'mg reasons :

(A) Ecological value
(B) Cultural value
(C) Agricultural value
(D) Aesthetic value
(E) Medicinal value

Choose the correct answer from the options giv en below :

(1) (A), (B) and (D) Only

(2) (B), (C) and (D) Only
(3) (), (D) and (E) Only
(4) (A), (D) and (E) Only

Options :

878270160233. 1
878270160234. 2
878270160235. 3

878270160236. 4

:No

Question Number : 50 Question Id : 87827040798 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ; Banning commercial tourism will positivel}r impact conservation activities,
Statement I1:  Panthera I:'gr:'s n'gris is the national animal of India.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270160237. 1

878270160238. 2

878270160239. 3

878270160240. 4

Question Id : 87827040793 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827040794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e1e1 o 91 H 23T yded Uk W91 &9 71 § it
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Options :

878270160221. 1
878270160222. 2
878270160223. 3

878270160224. 4

Question Number : 47 Question Id : 87827040795 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270160225. 1

878270160226. 2

878270160227. 3

878270160228. 4

Question Number : 48 Question Id : 87827040796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

yypadi, Tt anfe & forg wefar & 1 @ e S €

(1) FR=E
(2) =4
(3) <EM
(4) BrEAl
Options:

878270160229. 1
878270160230. 2
878270160231. 3

878270160232. 4

Question Number : 49 Question Id : 87827040797 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160233. 1

878270160234. 2

878270160235. 3

878270160236. 4

Question Number : 50 Question Id : 87827040798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270160237. 1
878270160238. 2
878270160239. 3

878270160240. 4

Comparative Study of Religions

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

878270939
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Online
Mandatory
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0

1
8782701710
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Question Number : 51 Question Id : 87827040799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

dentify the correct match of scholar and Statement

1. Consciousness of God is self-consciousness, knowledge of God is self-knowledge --- Ludwig Feuerbach
2. 1d is second stage of consciousness--—- Sigmund Freud.

3. Totem is primitive form of religion - E. B Tylor

4. Religion represents the self consciousness of individual - Emile Durkheim

Options:

878270160241. 1

878270160242. 2

878270160243. 3

878270160244. 4

Question Number : 51 Question Id : 87827040799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160241. 1
878270160242. 2
878270160243. 3

878270160244. 4



Question Number : 52 Question Id : 87827040800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

|dentify the scholar who holds the view that religion is a precipitator of social change

1. Max Weber

2. August Comte
3. Karl Marx

4. Emile Durkheim
Options :
878270160245. 1
878270160246. 2
878270160247. 3

878270160248. 4

Question Number : 52 Question Id : 87827040800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270160245. 1
878270160246. 2
878270160247. 3

878270160248. 4

Question Number : 53 Question Id : 87827040801 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ldentify the scholar who said that Religion is the matter of will.

_Immanuel Kant
Talcott Parsons

. Whitehead

W Stace

[

=

Options :

878270160249. 1
878270160250. 2
878270160251. 3

878270160252. 4

Question Number : 53 Question Id : 87827040801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160249. 1
878270160250. 2
878270160251. 3

878270160252. 4

Question Number : 54 Question Id : 87827040802 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Optimism is

1. An imaginative approach of life and thereafter
2. Arational approach to life and existence

3. A positive approach to life and existence

4 Alogical approach to counter negative forces
Options :

878270160253. 1

878270160254. 2

878270160255. 3

878270160256. 4

Question Number : 54 Question Id : 87827040802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160253. 1
878270160254. 2
878270160255. 3

878270160256. 4

Question Number : 55 Question Id : 87827040803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Religion can be defined as conservation of values”. Identify the scholar who said this

1. William James
2. Patrick

3 Alexander

4 Hoffoding

Options :

878270160257. 1
878270160258. 2
878270160259. 3

878270160260. 4

Question Number : 55 Question Id : 87827040803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"o B Yl B WRE & &Y H uRId o o g 5 39 fdgH &l Ui oreiH 9g Y ol
1. faferam oy

2. Ufew

3. ‘-C:Ela‘;ll\:l‘

4. gIHITET

Options :

878270160257. 1
878270160258. 2
878270160259. 3
878270160260. 4

Question Number : 56 Question Id : 87827040804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A concept of "epoche” or bracketing is an approach to the study of religion, is known as

1. Anthropological

2. Sociological

3. Phenomenological
4. Psychological
Options :
878270160261. 1
878270160262. 2
878270160263. 3

878270160264. 4

Question Number : 56 Question Id : 87827040804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. 94 d31H®
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4. FIGTI®

Options:

878270160261. 1
878270160262. 2
878270160263. 3

878270160264. 4

Question Number : 57 Question Id : 87827040805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Founding father of comparative study of religions is

1. E.B. Tylor

2. Emile Durkheim

3. F. Max Muller

4. Ludwig Wittgenstein
Options :
878270160265. 1
878270160266. 2
878270160267. 3

878270160268. 4

Question Number : 57 Question Id : 87827040805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1.3 &1 ¢
2. Uit g

4. JefaT fagii-gers

A

Options:

878270160265. 1
878270160266. 2
878270160267. 3

878270160268. 4

Question Number : 58 Question Id : 87827040806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In the theory of religion, the term “secularism * is understood as:

1. Decline of religion in society

2. Equal respect for all religions.

3. Respect of religious leaders

4. Domination of ‘the sacred’ on politics

Options :

878270160269. 1
878270160270. 2
878270160271.3

878270160272. 4

Question Number : 58 Question Id : 87827040806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

yH & UG § YHFARUEAr Weg @ Hgeigd o H 999 96 &

2. gl yof &I 99+ IHH
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Options:

878270160269. 1
878270160270. 2
878270160271. 3

878270160272. 4

Question Number : 59 Question Id : 87827040807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The book, Eastern Religions and Western Thought, is written by:

. Sarvapalli Radhakrishnan
Mircea Eliade

- Rudolf Otto

Victor Turner

[

F =

Options :

878270160273. 1
878270160274. 2
878270160275. 3
878270160276. 4

Question Number : 59 Question Id : 87827040807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S Aoy UUS e Yey AH® NS & aud o

1. GdYeci! AUHUH
2 Hidar ufegs

3. &aleh el

4 1dd<d E:?
Options:
878270160273. 1
878270160274. 2
878270160275. 3

878270160276. 4

Question Number : 60 Question Id : 87827040808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



‘Religion is not in doctrines, in dogmas nor in intellectual documentation: it s being and becoming; it is a realisation.” Identify the scholar who
has said the above lines while defining religion.

1. Hoffoding

2 W.T Stace

3. Swami Vivekananda

4 William James
Options :
878270160277. 1
878270160278. 2
878270160279. 3

878270160280. 4

Question Number : 60 Question Id : 87827040808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T, e o 7 € i G 8, T B o 9 A8, 5 334 1 o &) 8 T ol e forg+ et e e
1, E0ife
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2 i
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Options:

878270160277. 1

878270160278. 2

878270160279. 3

878270160280. 4

Question Number : 61 Question Id : 87827040809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The term religion means

1. To bind

2. To found

3. To reveal

4. To worship
Options :
878270160281. 1
878270160282. 2
878270160283. 3

878270160284. 4

Question Number : 61 Question Id : 87827040809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
o8 et 1 A4

1. dIYHT
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Options:

878270160281. 1
878270160282. 2
878270160283. 3

878270160284. 4

Question Number : 62 Question Id : 87827040810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



“The feeling, act and experiences of individual men in their solitude so far as they apprehend themselves o stand in relation fo whatever they
consider may divine”. [dentify the scholar who gave the above definition to religion

1 Patrick

2. William James

3 Alexander

4 WT Stace

Options :
878270160285. 1
878270160286. 2
878270160287. 3

878270160288. 4

Question Number : 62 Question Id : 87827040810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

it kT ] T, B R S T o 7 o e €1 9 fog] 1 ey o o 91 e T €1
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Options:
878270160285. 1
878270160286. 2
878270160287. 3

878270160288. 4

Question Number : 63 Question Id : 87827040811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Stages of life in the Hindu religion are-

Five
Four
- Six

Three

[

F =

Options :

878270160289. 1
878270160290. 2
878270160291. 3
878270160292. 4

Question Number : 63 Question Id : 87827040811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fe=g o # Sfiad & ¥ Bl 81

1. Ui

2. di

3. &

4 dH

Options:
878270160289. 1
878270160290. 2
878270160291. 3

878270160292. 4

Question Number : 64 Question Id : 87827040812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A sect of Saiva Philosophy is

Vaisnava
Pasupata

. Pustimarga

- Dvaitavada

[

F =

Options :

878270160293. 1
878270160294. 2
878270160295. 3
878270160296. 4

Question Number : 64 Question Id : 87827040812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. 990G
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4 gadlg

Options:

878270160293. 1
878270160294. 2
878270160295. 3

878270160296. 4

Question Number : 65 Question Id : 87827040813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Bhagvadagita is preaching of

~Srirama
Valmiki
. Bhisma
_ Srikrsna

[

F =

Options :

878270160297. 1
878270160298. 2
878270160299. 3

878270160300. 4

Question Number : 65 Question Id : 87827040813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YIGgIdl SAP1 UcH ¢

1. 4RM
2. arcdiid
4. g

Options:

878270160297. 1
878270160298. 2
878270160299. 3

878270160300. 4

Question Number : 66 Question Id : 87827040814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The propounder of Arya Samaja was --

- Sankaracarya

Ramakrsna Paramahamsa
- Maharsi Dayananda
. Kabiradasa

[

F =

Options :

878270160301. 1
878270160302. 2
878270160303. 3

878270160304. 4

Question Number : 66 Question Id : 87827040814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
HAGHS & Yadd U]

1. Tl
2 IHPY RHe Y
4. HARGH

Options:

878270160301. 1
878270160302. 2
878270160303. 3

878270160304. 4

Question Number : 67 Question Id : 87827040815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



“Akasa’ substance is recognised in the Jain tradition as:

1. Assisting in motion

2. Assisting in stability

3. Providing space for all substances
4. Living being

Options :

878270160305. 1

878270160306. 2

878270160307. 3

878270160308. 4

Question Number : 67 Question Id : 87827040815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
o T | 3MTH1Er 60 &1 Uh1 9T oidl 8-
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2 R d gere
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Options:
878270160305. 1
878270160306. 2
878270160307. 3

878270160308. 4

Question Number : 68 Question Id : 87827040816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



This vow is observed within the peniphery of charity to the guest and the monk.

1. Desavirati

2. Posadhopavasa
3. Atithisamvibhaga
4 Anarthadanda
Options :
8782701603009. 1
878270160310. 2
878270160311. 3

878270160312. 4

Question Number : 68 Question Id : 87827040816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270160309. 1
878270160310. 2
878270160311. 3

878270160312. 4

Question Number : 69 Question Id : 87827040817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct pair of the following :

~JAanavarana Karma — Aghati Karma
Gotra Karma — Ghati Karma

- Naigama —Naya

- Syadasti — Niksepa

[

F =

Options :

878270160313. 1
878270160314. 2
878270160315. 3

878270160316. 4

Question Number : 69 Question Id : 87827040817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fgfafad o O f&dl te Uel T o gediHu.-
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2 T ®H — oifd &4

3. FH-T

4 TGRed - ey

Options:

878270160313. 1
878270160314. 2
878270160315. 3

878270160316. 4

Question Number : 70 Question Id : 87827040818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



According to Jainism the liberated being is stationed at this

1. Aloka

2 Loka

3. Top of the Loka
4 Top of the Aloka
Options :
878270160317. 1
878270160318. 2
878270160319. 3

878270160320. 4

Question Number : 70 Question Id : 87827040818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. D

2. did

4 3cid
Options:
878270160317. 1
878270160318. 2
878270160319. 3

878270160320. 4

Question Number : 71 Question Id : 87827040819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Identify the terms NOT included in the Eightfold path:

A Right view

B. Right cleanliness

C. Right timings

D. Right mindfulness

E. Right clothing

Choose the correct answer from the options given below:

1. AB & Conly
2.B,C&Eonly
3.C,D&Eonly
4 A B &Donly

Options :

878270160321. 1
878270160322. 2
878270160323. 3

878270160324. 4

Question Number : 71 Question Id : 87827040819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Hid feu U owedl 3 € 981 STk &1 99 Difoe:

1. AB & Conly
2.B,C&Eonly
3.C,D&Eonly
4 A B &Donly

Options :

878270160321. 1
878270160322. 2
878270160323. 3
878270160324. 4

Question Number : 72 Question Id : 87827040820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Select the 2" 7" and 10" link in the twelve links of the cause of suffering as per dependent origination
A lgnorance

B. Becoming

C. Birth

D. Volition formation

E. Feeling

Choose the correct answer from the options given below:

1.A B&Conly
2. A B&Donly
J3.B,D&Eonly
4 B,C&Eonly

Options :

878270160325. 1
878270160326. 2
878270160327. 3
878270160328. 4

Question Number : 72 Question Id : 87827040820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TG & gl HeHl H T g5R 9ad Ud <84 MaH &1 UgdH difvig
A 3ffae

B. JUlald

C. Sifd

D. %R

E. deT

i feu U fodedl & € 981 IR &1 99 Pifog :

1. A B&Conly
2.A B&Donly
3.B,D&E only
4 B,C&E only

Options :

878270160325. 1
878270160326. 2
878270160327. 3

878270160328. 4

Question Number : 73 Question Id : 87827040821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Identify the school of thought established by Bhavaviveka

1. Prasanghika - Madhyamika
2. Syatantrika - Madhyamika
3. Yogacara

4 Vaibhasika

Options:

878270160329. 1
878270160330. 2
878270160331. 3

878270160332. 4



Question Number : 73 Question Id : 87827040821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270160329. 1
878270160330. 2
878270160331. 3

878270160332. 4

Question Number : 74 Question Id : 87827040822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the name of Stupa that was founded under supervision of the great Mahadeva-Bhikshu

1. Sanchi stupa

2. Amravati stupa

3. Peshawar stupa

4 Nagarjunkonda stupa
Options :
878270160333. 1
878270160334. 2
878270160335. 3

878270160336. 4



Question Number : 74 Question Id : 87827040822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

39 W4 &1 UgdH Pifae forge! Faior geF g gecd o Hasq o ga:

1. Gi<t &4
4. AR S] &0

Options :

878270160333. 1
878270160334. 2
878270160335. 3

878270160336. 4

Question Number : 75 Question Id : 87827040823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The translation of Jewish scripters into Greek is known as:

Vulgate
Septuagint

~ Turgum

- Pshita

[ e

N

Options :

878270160337. 1
878270160338. 2
878270160339. 3

878270160340. 4

Question Number : 75 Question Id : 87827040823 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
ggcl epl 1 g U Gii) H fdie dedldl §

1. ddle

2. H3feie

3. <A

4 difRran
Options :
878270160337. 1
878270160338. 2
878270160339. 3

878270160340. 4

Question Number : 76 Question Id : 87827040824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Joshua, the son of Sirach | composed the book commonly called as

Options :

878270160341. 1
878270160342. 2
878270160343. 3

878270160344. 4

Question Number : 76 Question Id : 87827040824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270160341. 1
878270160342. 2
878270160343. 3

878270160344. 4

Question Number : 77 Question Id : 87827040825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The descendants of Simon the Maccabee are often called:

1. Egyptians

2. Indians

3 Persians

4 Asmonaeans
Options :
878270160345. 1
878270160346. 2
878270160347.3

878270160348. 4

Question Number : 77 Question Id : 87827040825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270160345. 1
878270160346. 2
878270160347. 3

878270160348. 4

Question Number : 78 Question Id : 87827040826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The term "Fharisees” means in Judaism this

1. the a mointed ones
2. the royal ones

3. the separated ones
4 the slaves

Options:

878270160349. 1
878270160350. 2
878270160351. 3

878270160352. 4

Question Number : 78 Question Id : 87827040826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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4 Q¥

Options :
878270160349. 1
878270160350. 2

878270160351. 3
878270160352. 4

Question Number : 79 Question Id : 87827040827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

This disciple of Christ is called "the apostle to the gentiles”

St John

St. Paul
St Mark
. St Peter

[

=

Options:

878270160353. 1
878270160354. 2
878270160355. 3

878270160356. 4

Question Number : 79 Question Id : 87827040827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270160353. 1
878270160354. 2
878270160355. 3

878270160356. 4

Question Number : 80 Question Id : 87827040828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Saul was sent to Jerusalem to be educated under this teacher

1. Gamalivel

2 Alexander

3. King Lear

4 Moses
Options:
878270160357. 1
878270160358. 2
878270160359. 3

878270160360. 4

Question Number : 80 Question Id : 87827040828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. AT

2 Hdha

4. TGS
Options :
878270160357. 1
878270160358. 2
878270160359. 3

878270160360. 4

Question Number : 81 Question Id : 87827040829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

This was the Hebrew name of Apostle Paul

1. Augustine

2. Isaac

3. Saul

4 Vincent
Options:
878270160361. 1
878270160362. 2
878270160363. 3

878270160364. 4

Question Number : 81 Question Id : 87827040829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. LG
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4 fac
Options :
878270160361. 1
878270160362. 2
878270160363. 3

878270160364. 4

Question Number : 82 Question Id : 87827040830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Identify the latest gospel of the New Testament

1. of Mathew

2. of Mark

3 of Luke

4 of John
Options:
878270160365. 1
878270160366. 2
878270160367. 3

878270160368. 4

Question Number : 82 Question Id : 87827040830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160365. 1
878270160366. 2
878270160367. 3
878270160368. 4

Question Number : 83 Question Id : 87827040831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The preface of the Holy Quran is called

1. Al-Bagarah

2. Al-Alag

3. Al-Rahman

4 Al-Fatiha
Options:
878270160369. 1
878270160370. 2
878270160371. 3

878270160372. 4

Question Number : 83 Question Id : 87827040831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270160369. 1
878270160370. 2
878270160371. 3

878270160372. 4

Question Number : 84 Question Id : 87827040832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Varga bin Naufil bin Asad bin Abdul Uzza was the cousin of

1. Hazrat Ayesha
2. Hazrat Khadija
3. Hazrat Maryam
4 Hazrat Asma
Options:
878270160373. 1
878270160374. 2
878270160375. 3

878270160376. 4

Question Number : 84 Question Id : 87827040832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Rl faq, ftha fa7, fo o/ sfegd I=T 37d Td HIE 4 -
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4 galRd HHI
Options :
878270160373. 1
878270160374. 2
878270160375. 3

878270160376. 4

Question Number : 85 Question Id : 87827040833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Mohammed bin jarir al-Tabari and Ibn Hisham are known as

1. Poet

2. Musician

3. Historian

4 Singer
Options:
878270160377. 1
878270160378. 2
878270160379. 3

878270160380. 4

Question Number : 85 Question Id : 87827040833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



o L’

AigHG o SRIX 3d-desl 31X S o™ 39 9 | 94 9d §

3. QgD R

4 TO®
Options :
878270160377. 1
878270160378. 2
878270160379. 3
878270160380. 4

Question Number : 86 Question Id : 87827040834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Chapter (Surah) 105 of the Quran is related with

1. Ashab Fil

2 Ashab Kahaf
3. Ashab Suffa

4 Ashab Kufa
Options:
878270160381. 1
878270160382. 2
878270160383. 3

878270160384. 4

Question Number : 86 Question Id : 87827040834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160381. 1
878270160382. 2
878270160383. 3
878270160384. 4

Question Number : 87 Question Id : 87827040835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Namdhari movement was started by Baba Balak Singh. The followers of this movement are also called

1. Namrasi

2. Nami

3 Kukas

4 Udasi
Options:
878270160385. 1
878270160386. 2
878270160387. 3

878270160388. 4

Question Number : 87 Question Id : 87827040835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270160385. 1
878270160386. 2
878270160387. 3
878270160388. 4

Question Number : 88 Question Id : 87827040836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Guru Gobind Singh sent his followers to Varanasi to acquire knowledge of Sanskrit. They were called

1. Nihangs
2. Singhs
3. Akalis
4. Nirmalas

Options:

878270160389. 1
878270160390. 2
878270160391. 3

878270160392. 4

Question Number : 88 Question Id : 87827040836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270160389. 1
878270160390. 2
878270160391. 3

878270160392. 4

Question Number : 89 Question Id : 87827040837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A Bani of "Shri Guru Granth Sahib” based on Jajjawanti Raga is written by

1. Guru Nanak Dev Ji

2. Guru Amardas Ji

3. Guru Arjan Dev Ji

4. Guru Tegh Bahadur Ji
Options:
878270160393. 1
878270160394. 2
878270160395. 3

878270160396. 4

Question Number : 89 Question Id : 87827040837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160393, 1
878270160394 2
878270160395. 3

878270160396. 4

Question Number : 90 Question Id : 87827040838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Japa Sahib is a part of

hri Guru Granth Sahib
hri Surj Parkash Granth
hri Gur Shoba

hri Dasam Granth
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Options:

878270160397. 1
878270160398. 2
878270160399. 3

878270160400. 4

Question Number : 90 Question Id : 87827040838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270160397. 1
878270160398. 2
878270160399. 3

878270160400. 4

Question Number : 91 Question Id : 87827040839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ldentify the scholars who have written on religious experience
A_ Emile Durkheim

B. William James

. Georg Hegel

D. Rudolf Otto

E. Mircea Eliade

Choose the correct answer from the options given below

1. A, B and E only
2.B, CandD only
3. B, Dand E only
4 A CandD only

Options:

878270160401. 1
878270160402. 2
878270160403. 3



878270160404. 4

Question Number : 91 Question Id : 87827040839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. TEleh el
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Hid feu U laeedl 3 € 951 SR &1 99 DIfe:

1. $ddA B IRE
2 ®adB. C AR D
3. Had B D IR E
4 HAdA C 3ARD
Options :
878270160401. 1
878270160402. 2
878270160403. 3

878270160404. 4

Question Number : 92 Question Id : 87827040840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify concepts of E.B. Tylor's theory

A Mind

B. Spirit

C. Animism

D. Body

E. Selflessness

Choose the correct answer from the options given below

1. B, Cand D only
2. A DandE only
3. A BandC only
4 C,DandE only

Options :

878270160405. 1
878270160406. 2
878270160407. 3

878270160408. 4

Question Number : 92 Question Id : 87827040840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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= ST 7T fadedl & 9 U851 SR &1 999 DI

1. ®49dB, C 3R D
2. HAdA D 3RE
3. BAAA B IR C
4 HAAC, D, ARE
Options :
878270160405. 1
878270160406. 2
878270160407. 3

878270160408. 4

Question Number : 93 Question Id : 87827040841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the most appropriate explanation of the word “Dharma”

A. Dharma means laws, duties, right conduct, virtue and the proper way of living in Hinduism
B. Dharma focuses on the law of motion as Dravya, religion and ten virtues of Dharma.

C. In Sikhism, Dharma means path of Anhad Naad or sound produced divine.

D. Dharma is the Buddhist teaching of law and order.

E. Moral transformation of human being as mentioned by Tirthankaras.

Choose the correct answer from the options given below :

1. A, B and Conly
2.B, CandD only
3. C, D and E only
4 A BandD only

Options :

878270160409. 1
878270160410. 2
878270160411. 3

878270160412. 4

Question Number : 93 Question Id : 87827040841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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J1 feu 70 A el 8 9 981 3R &1 999 Difeis:

1. BadA B3R C
2 ®dd B, C AR D
3. ®addC, D3RE
4 HIAdA B3HRD

Options :

878270160409. 1
878270160410. 2
878270160411. 3

878270160412. 4

Question Number : 94 Question Id : 87827040842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct statements

A In world religions, the size of Judaism is smallest.

B. After the second world war the majority of the Jews are living in Israel and United States.
C. Revelation is not included in Tanak

D. The Gospel of Mathew was first of the four gospels.

E. The highest goal of life is orthopraxy rather than orthodoxy.

Choose the correct answer from the options given below :

1. A B&Conly
2.A C&Donly
3.B,D &E only
4 C,D&Eonly

Options :

878270160413. 1
878270160414. 2
878270160415. 3

878270160416. 4

Question Number : 94 Question Id : 87827040842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. HadA B3R C
2 ®ddA C 3R D
3 ®ddB DARE
4 HaAC, DIRE

Options :

878270160413. 1
878270160414. 2
878270160415. 3
878270160416. 4

Question Number : 95 Question Id : 87827040843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the corract statements

A Mormanism was established by Joseph smith Jr.

B. The earliest form of religious practitioner was the priest

C. The two important 19™ century precursors of new age religions both formed by women were Christian science and Unity school of Christianty
D. Christian science separated philosophical idealism from an aura of ‘science’ o affirm the higher reality.

E. The two persons who influenced Mahatma Gandhi when he came into direct contact with the theosophical roots of new globalization were
Madam Blavatsky and Annie Besant.

Choose the correct answer from the options given below :

1.A B&Conly
2 A C&Eonly
3.B,C&D only
4 AB&Eony

Options :

878270160417. 1
878270160418. 2
878270160419. 3
878270160420. 4

Question Number : 95 Question Id : 87827040843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



) 7 ¥R 98! et 1 g g

A FIRFIA 31 R SO0 Y R g 3175 o

B. &1 TR, et R 0 T o

C. 10 st & T a5 A 1 o o el - e o o, 3 o o S o o v e

D, 3 P ot A e o] it o v @ e s et 1 et it o o foven

E. 70 34ty & Fgonr 7 Tty S A o R o f ka1t 1 T fvan 1, 4 g el i O e
el R0 0 et ¥ 1 61 O 1 9 @l

1 5aqA BIRC
) TqaA CIRE
3598, C R D
4 T99A BIRE

Options :

878270160417. 1
878270160418. 2
878270160419. 3
878270160420. 4

Question Number : 96 Question Id : 87827040844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the features of primitive faith

A. Belief in natural objects

B. Belief in mana

C. Belief in one God

D. Belief in scripture

E. Belief in magic

Choose the correct answer from the options given below

1. A, B and C only
2. A BandD only
3. A CandD only
4 A B andE only

Options :

878270160421. 1
878270160422. 2
878270160423. 3

878270160424. 4

Question Number : 96 Question Id : 87827040844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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= ST 7T fadedl & 9 U851 SR &1 999 DI

1. ®ad A B 3R C
2. HAAA B IR D
3. @AAA, C 3R D
4 HAAA B IRE
Options :
878270160421. 1
878270160422. 2
878270160423. 3

878270160424. 4

Question Number : 97 Question Id : 87827040845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the aims of interfaith dialouge

A. To preach the teachings of own faith

B. To understand the teachings of various faiths

C. To respect the feelings of different faiths

D. To justify a faith

E. To eliminate the boundries of faiths

Choose the correct anwer from the options given below:

1. AD, and E only
2. B,C and E only
3. B,C and D only
4 B.D and E only

Options :

878270160425. 1
878270160426. 2
878270160427.3

878270160428. 4

Question Number : 97 Question Id : 87827040845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 ®HdaB, D 3RE

Options :

878270160425. 1
878270160426. 2
878270160427.3
878270160428. 4

Question Number : 98 Question Id : 87827040846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Read the following statements and choose the correct ones

A Vedas are not the earliest scriptures of Indian religion

B. Samhita is not the part of the veda

C. Soradasa was the worshipper of krishna

D. Bhagavadgita is vedanta

E. There is a commentary of Sankaracarya on the Brahmasitra
Choose the correct answer from the options given below:

1. C.D and E only
2. AB and C only
3. B,C and D only
4 A.CandD only

Options :

878270160429. 1
878270160430. 2
878270160431. 3

878270160432. 4

Question Number : 98 Question Id : 87827040846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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= ST 7T fadedl & 9 U851 SR &1 999 DI

1. ®adc, D, 3RE
2 Had A B, AR C
3. ®ddaB, ¢ 3D
4 HAAA, C, 3D

Options :

878270160429. 1
878270160430. 2
878270160431. 3

878270160432. 4

Question Number : 99 Question Id : 87827040847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Read the following statements and choose the correct ones.

A Jhankanda is the subsequent literature of the Veda

B. Tulasidasa was the worshipper of Rama.

C. The number of original philosophies of the Veda is six.

D. Vallabhacarya was the propounder of the Visistadvaitavada
E. The Vaisnava sect has been originated to the Bhrahmasatra.
Choose the correct answer from the options given below :

1. A, B and D only
2. A BandConly
3. B, Cand E only
4 C,DandE only

Options :

878270160433. 1
878270160434. 2
878270160435. 3
878270160436. 4

Question Number : 99 Question Id : 87827040847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160433. 1
878270160434. 2
878270160435. 3
878270160436. 4

Question Number : 100 Question Id : 87827040848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of these statements are related with Jagannatha Sabha:
A It is located at Ajanta-Ellora

B. It has the seating arrangement for one thousand persons.
C. It was built in B.C.E

D. It is the earliest centre of Jain arts.

E. It was built by Vastupal-Tejpal.

Choose the correct answer from the options given below

1. A B&Conly
2.B,D&E only
3. A&D only
4 C&Eonly

Options :

878270160437. 1
878270160438. 2
878270160439. 3
878270160440. 4

Question Number : 100 Question Id : 87827040848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 HAdC ARE
Options :
878270160437. 1
878270160438. 2
878270160439. 3

878270160440. 4

Question Number : 101 Question Id : 87827040849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Anekant is related with this description of

A. Spiritual consciousness

B. The multiple view point of reality

C. It is impossible to practice the law without reconciliation
D. The capacity of multifarious attributes in matter

E. Pacification of mental passions

Choose the correct answer from the options given below :

1. A, D&Eonly
2.B,C&Donly
3.B &D only
4 C&Eonly

Options :

878270160441. 1
878270160442. 2
878270160443. 3
878270160444. 4

Question Number : 101 Question Id : 87827040849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HABT 3T T -

A TS 9991 1 guiF B

B. T @1 9gUaiig Pl

C. 9HEd & 91 99 &1 U1a- 949 Tel o
D. Ugrd H 9guaiiy o ol Widd

E. AFMS ®uhl &1 39

= ST 7T fadedl & 9 U851 SR &1 999 DI

1. $ddA D 3RE
2 ®adB. C 3ARD
3. ®adB. 3R D

4 HadC ARE
Options :
878270160441. 1
878270160442. 2
878270160443. 3

878270160444. 4

Question Number : 102 Question Id : 87827040850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Read the following statements and identify the characteristics of the soul in Jainism :
A_ Soul is without virtue.

B. Non-attachmental and formless

C. Soul is the only alternative

D. Soul is with knowledge and consciousness

E. Soul is the self-body proven

Choose the correct answer from the options given below

1. A C&Eonly
2.C. D&Eonly
3.B,D &Eonly
4 A B&Donly

Options :

878270160445. 1
878270160446. 2
878270160447.3
878270160448. 4

Question Number : 102 Question Id : 87827040850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i Syt ®f U 3R SeH & HTER A1 & &1 B TgTH:-

A 3T S B
B. 3MMad 3R 3= 5

C. ATH IfghaH® &l

D. AT IH R I gied &

E. 3TH 30 IRR-FAT & |

H= fev e fooeyl § © U5 IR &1 90 S

1. BadA C 3ARE
2 ®daC D, ARE
3. ®ddB, D, 3RE
4 HAAA B, AR D

Options :

878270160445. 1
878270160446. 2
878270160447.3
878270160448. 4

Question Number : 103 Question Id : 87827040851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

|dentify the stupa that was built on the cremated place of Lord Buddha

1. Rambhar stupa

2. Amravati stupa

3. Shanti stupa

4 Dhammeka Stupa

Options:

878270160449. 1
878270160450. 2
878270160451. 3

878270160452. 4



Question Number : 103 Question Id : 87827040851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
39 WU @ TeaH Bifo o I HaH g2 & Sifdd 9W9R (G 9WR) & ®d W g Ul

2 3 ]-E?au ﬁc

3. Wifd &

4. YHD T4
Options:
878270160449. 1
878270160450. 2
878270160451. 3

878270160452. 4

Question Number : 104 Question Id : 87827040852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the writer of Catuhsataka text

. Chandrakirti
Aryadeva

- Vasubandhu

. Santi deva

[

=

Options :

878270160453. 1
878270160454. 2
878270160455. 3

878270160456. 4



Question Number : 104 Question Id : 87827040852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A XAD WA D OGP DI GgdH B3

Options :

878270160453. 1
878270160454. 2
878270160455. 3

878270160456. 4

Question Number : 105 Question Id : 87827040853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

|dentify the attributes of Mahayana those make it big or great, with respect to Hinayana, as per the book Mahayanasutra Lamkara:
A Importance of knowledge developed

B. Selection of Guru or teacher

C. Skilful devices or Upaya Kaushalya

D. Evolution of occupation

E Purpose of penance

Choose the correct answer from the options given below

1.AB&Conly
2. A B&Donly
3.A C&Eonly
4 A D&Eonly



Options :

878270160457. 1
878270160458. 2
878270160459. 3
878270160460. 4

Question Number : 105 Question Id : 87827040853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

RarE & URYET T HEUH & 37 U1 $1 UgaH Siford off HelH TWOdR e & A79R el 1 g
A -‘Ffﬂ.gm

B. 7% 95w

C. JUH @[E He@
D. a9 fed
E Uiqui Agd

-

¥ feu T fadedl H U Wl IR &1 947 B

1. HadA BaRC

2 HAdA B3RD

3 PdaA CHRE

4 HaaA DARE
Options :
878270160457. 1
878270160458, 2
878270160459. 3

878270160460. 4

Question Number : 106 Question Id : 87827040854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

ldentify the sons of Noah

A Isaac

B. Jacob

C. Shem

D). Ham

E_Japheth

Choose the correct answer from the options given below

1. A B&Conly
2.B,C&Donly
3. C, D&Eonly
4 B,D &Eonly

Options :

878270160461. 1
878270160462. 2
878270160463. 3

878270160464. 4

Question Number : 106 Question Id : 87827040854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



6 & Tl & TgdH Do

I feu T faded! § T Ted 39ged ST} @1 994 BIE:

1. $ddA B IR C
2 ®adB. C 3ARD
3. HAAC D RE
4 HAdB D IR E
Options :
878270160461 1
878270160462. 2
878270160463 3

878270160464. 4

Question Number : 107 Question Id : 87827040855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the tribes of Israel from among these:
A_Reuben

B. Simeon

C. Benjamin

D. Canaanites

E. Moabites

Choose the correct answer from the options given below

1. A B&Conly
2.B,C&Donly
3.C,D&Eonly
4 A C&E only

Options :

878270160465. 1
878270160466. 2
878270160467. 3
878270160468. 4

Question Number : 107 Question Id : 87827040855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fFafafad § 9 soed &1 SAwadl @1 UgdH difed -

A Rgs

B. faffai

C. dSTEA

D. HHRY

E. At

=Td feu 7T fgeedl ¥ 999 Iugad IR &1 98- DIfold:

1. BadA B3R C
2 ®dd B, C AR D
3. ®add C, D3RE
4 HATA CIARE

Options :

878270160465. 1
878270160466. 2
878270160467. 3

878270160468. 4

Question Number : 108 Question Id : 87827040856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the important personalities of Reformation

A 5t. Thomas Aguinas

B. Martin Luther

C. John Calvin

D. Swingli

E. 5t. Thomas, the Apostle.

Choose the correct answer from the options given below

1. A B&Conly
2.B,C&Donly
3.C,D&Eonly
4 B,D&E only

Options :

878270160469. 1
878270160470. 2
878270160471. 3

878270160472. 4

Question Number : 108 Question Id : 87827040856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o gYR & Fafafed sfdl &1 ugaH Sife -
A Td YIHY TE

B. AlfeT TR

C. S e

D. gt

E.Td YTHY © 30T

= ST 7T fadedl & 9 O85! SR &1 999 DI

1. ®ad A B 3R C
2. ®dAB, C 3R D
3. ®AAC, D, AIRE
4 HAAB. D ARE
Options :
878270160469. 1
878270160470. 2
878270160471. 3

878270160472. 4

Question Number : 109 Question Id : 87827040857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the Gospels of the Bible

A_ St Mathew

B. St. Mark

C. 5t. John

D. Revelation

E. Genesis

Choose the correct answer from the options given below

1. A B&Conly
2.B,C&Donly
3.C,D&Eonly
4 A C&E only

Options :

878270160473. 1
878270160474. 2
878270160475. 3
878270160476. 4

Question Number : 109 Question Id : 87827040857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



argad & YRR &1 UgdH Bifo ;
A Gd 8y

B. Td ATt

C. ga &M

D. Sgh

E. SHEE

~ -] o

= ST 7T fadedl & 9 U851 SR &1 999 DI

1. ®ad A B 3R C
2. ®dAB, C 3R D
3. ®AAC, D, AIRE
4 HAAA C IARE
Options :
878270160473. 1
878270160474. 2
878270160475. 3

878270160476. 4

Question Number : 110 Question Id : 87827040858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify from amongst the following, names those are not included in the Caliphate Abbasid in Egypt (Misr)
A_Nahab Allah

B. Wathig Bil Allah

C. Hakim Bin Amar Allah

D. Mutawakkil Ala Allah

E. Wali Allah

Choose the correct answer from the options given below:

1.A BandC only
2.C,DandE only
3. B, Cand D only
4 E DandAonly

Options :

878270160477. 1
878270160478. 2
878270160479. 3
878270160480. 4

Question Number : 110 Question Id : 87827040858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



foffaa s s I Sl sasd ol e & awrd =t S 4 T8 &
A HTed 3tTile

B. 1iY® fad 3

C. glidA o 3R 3ieai

D. Hadfgdd 3Ha-3HTle

E.ddl 3fcdg

= ST 7T fadedl & 9 U5 SR &1 999 DI

1. $ddA B3R C
2 HadC DIIRE
3. ®adB. C 3R D
4 HAAE. D 3R A
Options :
878270160477. 1
878270160478. 2
878270160479. 3

878270160480. 4

Question Number : 111 Question Id : 87827040859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Read the following and choose the false statements.

A. The region of Hijaz is in Egypt

B. Al-Rahig Al-Makhtum written by Safi Al-Rahman Mubarkpuri
C. Baba Farnd was a traveller

D. Sahih Muslim is the collection of Hadith

E. The tomb of the Humayun in the Dewas

Choose the correct answer from the options given below :

1. A, CandE only
2. C, DandAonly
3.D, Eand C only
4 B, DandE only

Options :

878270160481. 1
878270160482. 2
878270160483. 3
878270160484. 4

Question Number : 111 Question Id : 87827040859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fafdiiad @i Uit 3R Tad BYH &I T4

ARvweaafads

B. 3fcI YEid 3ci HEgH & gD 90! e 88 JaRD I ©

C. 9191 Bilc Uh Ot 4

D. U2! g gery & UdbeH o

Egd @ Ao cadgH g

I feu T faged! § T Ted 399ed ST} @1 994 BIE:
1. ®adA, C3RE

2. A C, D AR A

3. ®AaAD, E3RC

4 HAAB. D 3R E

Options :

878270160481. 1
878270160482. 2
878270160483. 3
878270160484. 4

Question Number : 112 Question Id : 87827040860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify amongst the following, names of those who were present in the Quresh Parliament (Dar al-Nadwa)
A_Malik bin Nazar

B. Abu Jahal bin Hasham

C. Nazr bin Harith

D. Umaiya bin Khalf

E. Safwan bin Nasr

Choose the correct answer from the options given below

1.A Band C only
2.C,DandE only
3. E, Cand B only
4.B, Cand D only

Options :

878270160485. 1
878270160486. 2
878270160487. 3
878270160488. 4

Question Number : 112 Question Id : 87827040860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



D UG (GR-3-AgdN) H Hivg 911 B UgdH BIfot:

I CACE R

B. 34 Wgd 99 39

=

C. Fo fe= 81y

D. IEg AT @

E. githa f§9 TR

-t fau U fadedl & I 981 SR &1 994 DIt

1. $ddA B3R C
2 HadC DIIRE
3. @dd E C 3R B
4 @ad B.C3ARD
Options :
878270160485, 1
878270160486. 2
878270160487. 3

878270160488. 4

Question Number : 113 Question Id : 87827040861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Among the following, identify the texts of Dasam Granth
A Japu Sahib

B. Sukhmani Sahib

C. Akal Ustat

D. Ram Avtar / Krishan Avtar

E. Anand Sahib

Choose the correct answer from the options given below

1. A, Band D only
2. B, Cand D only
3. A CandD only
4 C,DandE only

Options :

878270160489. 1
878270160490. 2
878270160491. 3
878270160492. 4

Question Number : 113 Question Id : 87827040861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



g ¥ € I\ Uy & el & UgdH &Y
A g O1fgd
B. §EH- Hiigd

C. Pl I&dd

D. M SHAR/PW HadR

E HH'GE GG

= ST 7T fadedl & 9 U851 SR &1 999 DI

1. ®adA B 3R D
2. ®dAB, C 3R D
3. BAAA C, 3R D
4 HAAC, D, ARE
Options :
878270160489. 1
878270160490. 2
878270160491. 3

878270160492. 4

Question Number : 114 Question Id : 87827040862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the Sikh institutions

A_ Institute for Sikh Studies

B. Guruship

C. Sangat

D. Pangat

E. Miri-Pin

Choose the correct answer from the options given below

1. A, B and E only
2. A BandConly
3. B, Cand D only
4 B, CandE only

Options :

878270160493. 1
878270160494. 2
878270160495. 3
878270160496. 4

Question Number : 114 Question Id : 87827040862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oo dyral ®f UgdH &

A To&g 1 & e o=y
B. T3MTg

C. I7d

D. OfTd

E ARL-ORT

= ST 7T fadedl & 9 U851 SR &1 999 DI

1. ®ddA B, iR E
2. HAAA B IR C
3. ®»AAB, ¢, 3R D
4 HAAB, C ARE
Options :
878270160493 1
878270160494, 2
878270160495. 3

878270160496. 4

Question Number : 115 Question Id : 87827040863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the contributors of Shri Guru Granth Sahib.
A_Guru Nanak Dev Ji

B. Bhagat Kabir Ji

C. Guru Gobind Singh Ji

D. Bhai Gurdas Ji

E. Bhagat Namdev Ji

Choose the correct answer from the options given below

1. A, B and C only
2. B, Cand D only
3.B, CandE only
4 A B andE only

Options :

878270160497. 1
878270160498. 2
878270160499. 3

878270160500. 4

Question Number : 115 Question Id : 87827040863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S 1% Uy Tifgd 1 -1 H TRIGH $3 alcl D1 UgdH DY
A TS S ¢d Sl

B. Had BEIX Gl

C. % Tifde fHg o

D. 4TS e ol

E. YTd AMcd ot

= ST 7T fadedl & 9 U5 SR &1 999 DI

1. ®ad A B 3R C
2. ®dAB, C 3ARD
3. ®»ddB. C 3ARE
4 HAAA B IRE
Options :
878270160497. 1
878270160498. 2
878270160499. 3

878270160500. 4

Question Number : 116 Question Id : 87827040864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List [l

List | Theories List Il Scholars

A_ “Dialogues on natural religion” . Philo

B. “Matter was the source of all eviF Il Aristotle

C. “God is the prime mover” lll. Walter Kaufmann
D. “Critique of Religion and Philosophy|IV. David Hume

Choose the correct answer from the options given below:

1. A, B-ll, C-ll, DIV
2. Al B, C-IV, DI
3. AV, B-l, C-lI, D-lI
4. A, B-IV, C-l, D-lI
Options :
878270160501. 1
878270160502. 2
878270160503. 3

878270160504. 4

Question Number : 116 Question Id : 87827040864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Gl | ' Yy TGl 1| BT e S

i - Risia - fagH
A. STTRE H1F F58d |. TISE

B. "Hex a1l § |iY ST o1e shae |1l R

C. 7S 591 § WISH HaR lIl. AT HIEET
D. 5l i el wos frargTel)iv. Sfde gar

=T U 71 fodedl | © Gl S &1 99 I

1. A, B-ll, CHlI, DIV
2. AL, Bl C-IV, D-
3. AV, B-l, C-lI, DA
4. All, B-IV, C-1, D-lI

Options :

878270160501. 1



878270160502. 2
878270160503. 3

878270160504. 4

Question Number : 117 Question Id : 87827040865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [l

List | Thinkers List Il Approach

A James G. Frazer I. Sociology

B. Carl Jung Il. Phenomenonlogical
C. Max weber 1. Anthropology

O. W. Brede Kristensen|lV. Psychological

Choose the correct answer from the options given below:

1. A, B-Iv, C-lll, D-lI
2. All, B-IV, C-I, D-lI
3. All, B-IV, C-l, D-lI
4 A, B-IV, C-ll, D-I
Options :
878270160505. 1
878270160506. 2
878270160507. 3

878270160508. 4

Question Number : 117 Question Id : 87827040865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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D. Se 35 fpeeeH|Iv. Fates

=< U 71U fodedl | ° Tl S &1 999 I

1. A, B-IV, C-lII, D-lI
2. All, B-IV, C-I, D-lI
3. All, B-IV, C-l, D-lI
4. A, B-IV, C-ll, D-I
Options :
878270160505. 1
878270160506. 2
878270160507. 3

878270160508. 4

Question Number : 118 Question Id : 87827040866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [I

List | List 11

Books Writers

A, When God Was Woman |. Mircea Eliade

B. Patterns in Comparative Religion Il. Katie Armstrong

C. The Elementary Forms of Religious Life|lll. Marlin Stone

D. Black Womanist Ethics I'V. Emile Durkheim
Choose the correct answer from the options given below:

1. A, B-ll, C-lI, DIV
2. Al B, C-IV, D-lI
3. Al B, C-lI, DIV
4. AV, B-ll, C-1, DA



Options :

878270160509. 1
878270160510. 2
878270160511. 3

878270160512. 4

Question Number : 118 Question Id : 87827040866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Gt | ' 9y Gl 1| &1 e s
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B. Ue-id 34 HHRI it II. FET S
C. T SUHL T e Rfdieag as® (. |3feq ==

i fGu U fa@edl § € 981 S &l 994 Difat:

1. A, B-ll, CAll, D-IV
2. All, B-I, C-IV, DI
3. Al B-1, Cll, DIV
4 AV, B-Il, C-1, D-lI
Options :
878270160509. 1
878270160510. 2
878270160511. 3

878270160512. 4

Question Number : 119 Question Id : 87827040867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List [l

List | List Il
Doctrine Scholar
A. Dvaitavada |. Vallabhacarya

B. Suddhadvaitavadalll. Madhvacarya

C. Visistadvaitavada |IIl. Sankaracarya

D. Advaitavada V. Ramanuja
Choose the correct answer from the options given below:

1. AV, B-l, C-llI, D-I
2. All, B-IV, C-l, D-lI
3. Al B-1, CIV, DI
4 Al B-ll, Cll, DIV
Options :
878270160513. 1
878270160514. 2
878270160515. 3

878270160516. 4

Question Number : 119 Question Id : 87827040867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Gl | ' Yy TGl 1| BT e S

Gl Ll

A Gdag |. FEETHTEE
B. REgadis ||l A=
C. fafpreaars|i. siewad
D. gaarg IV, THR

=T U 7T fodedl | © Tl ST &1 999 Pt

1. AV, B-I, C-lll, D-II
2. Al B-IV, C-1, D-II
3. Al B, C-IV, DAl
4. A, B, G-I, DIV



Options :

878270160513. 1
878270160514. 2
878270160515. 3
878270160516. 4

Question Number : 120 Question Id : 87827040868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List I

List | List I

Text Classification of work
A Satkhandagamall. Upanga

B. Acaranga Il. Saurasent Canon
C. Dasavaialika ll. Anga Canon

D. Prajfiapana V. Milasitra

Choose the correct answer from the options given below:

1. Adlll, B-l, C-IV, D-lI
2. Al B-Il, C-IV, DI
3. All, B-IV, C-I, D-lI
4 AV, B-Il, C-1, D-lI
Options :
878270160517. 1
878270160518. 2
878270160519. 3

878270160520. 4

Question Number : 120 Question Id : 87827040868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Gt | ' 9y Gl 1| &1 e s

N5l iSil
TR EEL
A SCEUSTH (| F9T

B AR |1 =IREE emE
C. SRl ST HETH
D. U391 V. qogE

T4 o 1 T eal 3 9 9l 95 &l 99 P

1. Al B-l, C-IV, DIl
2 Al B-lll, C-IV. Dl
3 Al B-IV. C-1. D-lll
4 AV, B C-1, D-lII

Options :

878270160517. 1
878270160518. 2
878270160519. 3

878270160520. 4

Question Number : 121 Question Id : 87827040869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [I

List | List Il

Ashokan Rock Edict|Description

A. Rock Edict - |. Ashoka's victory over Kalinga

B. Rock Edict -1 [I. Prohibition of animal slaughter

C. Rock Edict -VIIl |1l Provides care for man and animals

D. Rock Edict XIlIl |V, Ashoka's first Dharma yatra to Bodhi tree at Bodhgaya

Choose the correct answer from the options given below:

1. All, B-lll, C-1V, D-|
2. A, B, G-I, DAV
3. Al B-IV, C-I, D-lI
4. AV, B-l, C-lI, DA



Options :

878270160521. 1
878270160522. 2
878270160523. 3
878270160524. 4

Question Number : 121 Question Id : 87827040869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Il | ' Y Tl (1 BT T BIfg:

it | il
A BmmmEdEn- 1 || =i gR St - faeg

B. RamE d=- 11 (Il g9 & Ay

C. fFRremera S - Vill|lIl. BT 3R gR[e &1 S

D. fRraTerE S - X1V, 3= I st Ra Sifige &1 gedl y5-am
- feu 7Y [adedl & € el 3Tk @l 98- BIeg:

1. AL, B-lll, C-IV, D-l
2. Al B-ll, Cll, DIV
3. Alll, B-IV, C-l, D-lI
4 AV, B-l, C-lI, D-lI
Options :
878270160521. 1
878270160522. 2
878270160523. 3

878270160524. 4

Question Number : 122 Question Id : 87827040870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List [l

List | List Il
A. Daniel, Enoch |. Prophets of the 8t cent. BCE
B. Amos, Hosea, Isiah, Micah |Il. Jewish apocalyptic writers

C. Ezekiel, Deutero-Isiah 1. 2" group of pre-exilic prophets

D. Zaphania, Nahmn, Habakuk|l\V. Babylonian exile prophets

Choose the correct answer from the options given below:

1. A, B-ll, C-ll, DIV
2. Al B-1, CIV, DI
3. All, B-IV, C-l, D-lI
4 A1V, B-l, C-lI, D-lI
Options :
878270160525. 1
878270160526. 2
878270160527. 3

878270160528. 4

Question Number : 122 Question Id : 87827040870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Gl | ' Yy TGl 1| BT e S

Gl il

A ST e | B4 el 5. 4, & T

B. aHrg, Biftmn, snsfim, BRI ofew &1 sravifas tas

C. Tefeea Sex] HAifear III. g3 aTites 9T &1 gEl 958
D. TI-4T 9154, §915® IV, SETE T JaTE!

=T U 71 foded! | © Gl ST &1 999 I

1. A, B-ll, CHlI, DIV
2. Al B-l, C-IV, DAl
3. Al B-IV, C-1, D-lI
4. AV, B-l, C-lI, DI

Options :

878270160525. 1



878270160526. 2
878270160527. 3

878270160528. 4

Question Number : 123 Question Id : 87827040871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [l

List | List Il
A. City of God |. St. Thomas Aguinas
B. Imitation of Christ (1l. Martin Luther

C. Summa Theologicallll. S$t. Augustine

D. 95 Theses I'V. Thomas A Kempis

Choose the correct answer from the options given below:

1. A, B-ll, CAll, D-IV
2. Al B-Il, C-IV, DI
3. All, B-IV, C-l, D-lI
4 A-ll, B-IV, C-1, D-lll
Options :
878270160529. 1
878270160530. 2
878270160531. 3

878270160532. 4

Question Number : 123 Question Id : 87827040871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Gt | ' 9y Gl 1| &1 e s
Gl Gicill]

A SHTTR (G131 7is)||. 9 A9 uieaa
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C. g1 e 1. 9 3T
D. 95 fifg Iv. 4 € foefim
i feu U fadedl § © Ot 3R & 984 difog:

1. Al B-lI, CIl, DIV
2 Al B-lll, C-IV. Dl
3. Al B-IV, C-I, D-II
4 AJl B-IV. C-1. D-I

Options :

878270160529. 1
878270160530. 2
878270160531. 3

878270160532. 4

Question Number : 124 Question Id : 87827040872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List | with List [I

List | List 1l

A Masnavi Rum I. Muhammad bin Ismail
B. Sahih Al-Bukhari|ll. Jalal Al-Din Rumi

C. Kallla wa-Dimna lll. Mohammad bin Eisa
D. Jami At-Tirmidhi |I'V. 1bn Al-Mugaffa

Choose the correct answer from the options given below:

1. Adl, B-l, C-IV, DIl
2 Al B-IV, C-I, D-II
3 Al B-IV. C-Ill D-l
4 AV, B, C-1, D-lII

Options :

878270160533. 1



878270160534. 2
878270160535. 3

878270160536. 4

Question Number : 124 Question Id : 87827040872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gt | & a1y gl 11| &1 A Sifee

T | il

AFEEIEY || HEWE B9 sERd
B. 9E! SO-g@RI ||| e 3 g HH!
C. Sfcren @ fG7a1 |11 Higwig B sa
D. oH Sfd-feriari| V. 5§ 31T - HHwHT
= feU U fadedl § T Tl Ik Bl 9g- DIl

1. All, B-l, CV, D-HlI
2. All, B-IV, C-I, DI
3. Al B-IV, C-lll, D-|
4 AV, B-Il, C-1, D-lI
Options :
878270160533. 1
878270160534. 2
878270160535. 3

878270160536. 4

Question Number : 125 Question Id : 87827040873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List I

List | List Il
Author Book

A. Jagjit Singh |. History of the Sikhs
B. McLeod, W.H II. The Sikh Religion

C. Mcauliffe, Max Arthur|lll. In The Garavan of Revolution

D. Gupta, Hari Ram I\V. The Evolution of The Sikhs Community

Choose the correct answer from the options given below:

1. A, B-lll, C-ll, DIV
2. All, B-IV, C-ll, D-I
3. AV, B-lll, C-, D-lI
4 Al B-ll, CIV, D-lI
Options :
878270160537. 1
878270160538. 2
878270160539. 3

878270160540. 4

Question Number : 125 Question Id : 87827040873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Gt | ' 9y Gl 1| &1 e s

dE® Ud 3d Txd & Yol HAH & UgdH B

Sl kil
A SHATSIG 188 REGEE AL
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1. Al B-lIl, C-Il, DIV
2 Al BV, C-Il. Dl
3. AV, Bl C-I, D-II
4 AJ B-ll, CV, D-lII

Options :

878270160537. 1
878270160538. 2
878270160539. 3

878270160540. 4

Question Number : 126 Question Id : 87827040874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the origin of religion
A_Judaism

B. Mana

C. Totem

D. Islam

E. Christianity

Choose the correct answer from the options given below:

1.A B DEC
2CDEAB
3B,CAED
4 BAC,D E

Options :

878270160541. 1
878270160542. 2
878270160543. 3
878270160544. 4

Question Number : 126 Question Id : 87827040874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



U & 3¢H BT Yol 64 Tgdl-g
A Tgal ¢H

B. HAI

C. leq

D. 3% ¢

E. 395 ¢H

= ST 7T fadedl & 9 U851 SR &1 999 DI

1.A B DEC
26 DEA B
3B,CAED
4 BAC,D E

Options :

878270160541. 1
878270160542. 2
878270160543. 3

878270160544. 4

Question Number : 127 Question Id : 87827040875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



On the basis of Rudolf Otto's theory, find out the correct sequence in the stages of religious experience from lower to higher
A Experience of impotency / sense of nothingness

B. Sense of overpowerness

C. Experience of dread

D. Experience of consuming fire or energy

E. Experience of fascination

Choose the correct answer from the options given below:

1.B,ACED
2ACBDE
3 CABDE
4 CBAED

Options :

878270160545. 1
878270160546. 2
878270160547. 3
878270160548. 4

Question Number : 127 Question Id : 87827040875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T el & G0 & AR T YD 3T+ B ST B -1d § SR 31 3R Te 77 TGl
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1.B,A CED
2ACBDE
3.C,A B DE
4 C,BAED

Options :

878270160545. 1
878270160546. 2
878270160547. 3
878270160548. 4

Question Number : 128 Question Id : 87827040876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify a correct sequence of the developers of the theories of understanding the religion
A_Emile Durkheim

B. James G. Frazer

C. Max Weber

D. EB. Tylor

E. Mircea Eliade

Choose the correct answer from the options given below:

1.B.ADCE
2.B,D,E,CA
3.D,B,A CE
4 D ECAB

Options :

878270160549. 1
878270160550. 2
878270160551. 3
878270160552. 4

Question Number : 128 Question Id : 87827040876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oH ® IS & [Ogid & [AH™ & 9d- a0l & 9a) $HF B Jgaid HiTeg
A Tfad gé‘m

B. OF. . el

C. Ha da
D 3 & ¢

N iy

E_ fofa ufiemre

Hid feu U owedl 3 € 981 STk &1 99 Difoe:

1.BADC.E
2B,D ECA
3.D,B,A CE
4 D ECAB

Options :

878270160549. 1
878270160550. 2
878270160551. 3
878270160552. 4

Question Number : 129 Question Id : 87827040877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following from later to earlier chronological order
A_Bhaktikala

B. Vedic Religion

C. Aryasamaja

D. Vaisnava Religion

E. Sikh dharma

Choose the correct answer from the options given below:

1.B,C,D,E A
2ABCDE
3.C EADB
4 D CABE

Options :

878270160553. 1
878270160554. 2
878270160555. 3

878270160556. 4

Question Number : 129 Question Id : 87827040877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FRfERad &1 Uy ¥ Jd & DIeshAMYR odaieyd 1|
A HigadTa
B. dfe® ¥H
D. Jwiq
E foeg oo

= ST 7T fadedl & 9 U5 SR &1 999 DI

1.B,C,D,E A
2ABCDE
3.C EA DB
4 D CABE

Options :

878270160553. 1
878270160554. 2
878270160555. 3

878270160556. 4

Question Number : 130 Question Id : 87827040878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order: (from earlier to later period)
A. Completion of the Jain canons recitation

B. Composition of the Pramana-mimamsa

C. The first canonical recitation (Macana) at Pataliputra

D. Dhawala Tika by Virasenaswami

E. Birth of Lord Mahavira

Choose the correct answer from the options given below:

1.E,B,C,D A
2ECADB
3.C,B,ADE
4 D CABE

Options :

878270160557. 1
878270160558. 2
878270160559. 3

878270160560. 4

Question Number : 130 Question Id : 87827040878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FEfERad @ BIAhHRYUR Haiyd H:

A S T @1 It BT O BT
B. WU - i &7 e
C. UIefeiga H Uy S{R1HS ara-l

D. T WHl gRT 499 Sid1 & T

E. HTdF AgdR @1 &

Td fau 7T fgwedl ° ¥ 981 S &1 994 Difor:

1.E,B,C,D A
2ECADB
3.C,B,ADE
4 D CABE

Options :

878270160557. 1
878270160558. 2
878270160559. 3
878270160560. 4

Question Number : 131 Question Id : 87827040879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the names of the Dalai Lamas of Tibet in chronological order from earlier to later ones:
A. Sonam Gyatso

B. Kelsang Gyatso

C. Thubten Gyatso

D. Tenzin Gyatso

E. Tsayang Gyatro

Choose the correct answer from the options given below:

1.A/B,C,D,.E
2AEBCD
3.B,ADCE
4 ACEDB

Options :

878270160561. 1
878270160562. 2
878270160563. 3

878270160564. 4

Question Number : 131 Question Id : 87827040879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Solls Q1S & HT & S HAER Uegd 9 916 & A § Haiyd
A FHH Tl

B. BT I

D. dIfer Tt

E. ST et

= ST 7T fadedl & 9 U5 SR &1 999 DI

1.A,B,C,D E
2AEBCD
3 BADCE
4 ACEDB

Options :

878270160561. 1
878270160562. 2
878270160563. 3

878270160564. 4

Question Number : 132 Question Id : 87827040880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the chronological sequence in the (Old testament) Personalities (earlier to later )
A Moses

B. Isaac

C. Rehoboam

D. Solomon

E. David

Choose the correct answer from the options given below:

1.AB,C,DE
2AEDCGCB
3.B,C,D,E A
4 C D EAB

Options :

878270160565. 1
878270160566. 2
878270160567. 3
878270160568. 4

Question Number : 132 Question Id : 87827040880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



idad] (s TxeHe) H BIcHH (dad d Iuiddl soH) D1 Ugdr Bifeg
A HIES

B.g

C. BT

D. GI<HA
E Sfds

- o

Hid feu U owedl 3 € 981 STk &1 99 Difoe:

1.A,B,C,DE
2AEDCB
3.B,C,D,EA
4 C,D EAB

Options :

878270160565. 1
878270160566. 2
878270160567. 3
878270160568. 4

Question Number : 133 Question Id : 87827040881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the chronological order of Christian saints (earlier to later)
A_ St Francis Xavier

B. 5t Alphonse

C. 5t. Thomas Aguinas

D. 5t. Augustine

E. 5t Paul , The Apostle

Choose the correct answer from the options given below:

1.E,D,C,A B
2A B CDE
3.B,C,D,EA
4 C,D EAB

Options :

878270160569. 1
878270160570. 2
878270160571. 3
878270160572. 4

Question Number : 133 Question Id : 87827040881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SUTs =i &1 Gd ¥ UYTq & BIckhHIaR UgdH |

AT Wity oo

B. O qhd

C. O-d YTHY ueY

D. O 3&H

E T Uid. vOiad

=, =

Hid feu U owedl 3 € 981 STk &1 99 Difoe:

1.E,D,C,A B
2A B CDE
3.B,C,D,EA
4 C,D EAB

Options :

878270160569. 1
878270160570. 2
878270160571. 3
878270160572. 4

Question Number : 134 Question Id : 87827040882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to the compilation year, identify the correct sequence of Hadith books.
A_Abu Dawood

B. Sahih Muslim

C. Ibn Maja

D. Sahih Bukhari

Choose the correct answer from the options given below:

1.D,B,C A
2ABD,C
3.C,BAD
4 BACD

Options :

878270160573. 1
878270160574. 2
878270160575. 3
878270160576. 4

Question Number : 134 Question Id : 87827040882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gug &1 fdral @I Yaferd a9 & Fg1 a¥ & %H H aaisU|
A Y ETHa

B. 981 giEH

C. 3§ HIST

D. 9Te! @Rl

- - -

g feu e fowedl 3 € 981 STk &1 99 DI

1.D,B,C A
2ABD,C
3.C,BAD
4 BACD

Options :

878270160573. 1
878270160574. 2
878270160575. 3

878270160576. 4

Question Number : 135 Question Id : 87827040883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find out the correct sequence in the stages of Anand Karaj ceremony.
A Distribution of Karah parsad

B. Reading of four lawan from Guru Granth Sahib

C. Tying the palla by the bride’s father.

D. Ardas and Hukamnamha from Guru Granth Sahib

E. Obtaining the consent of the Guru and parents.

Choose the correct answer from the options given below:

1.A B DEC
2 EDB,CA
3.E,C B,DA
4 E,B,C,D A

Options :

878270160577. 1
878270160578. 2
878270160579. 3
878270160580. 4

Question Number : 135 Question Id : 87827040883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el o gH:3He BRI GARIE & fafts TRl &1 9el 9 94 -

A. B UG &1 [qa3o
B. 7% 7Y TIfed ¥ Ig¢d IR dra41 &1 U1d
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D. 7% U4 Tied ¥ IgYd 3Ra AR gHHEH

E. 7% 3R Ara-Uar &1 Hgafd U &A1
-d feu U famedl § § 921 TR &l 98- DIt

1.A B DEC
2 EDB,CA
3.E,C B,DA
4 E,B,C,D A

Options :

878270160577. 1
878270160578. 2
878270160579. 3
878270160580. 4

Question Number : 136 Question Id : 87827040884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Faith is confidence or trust in & person to thing, deity. in the doctrines or teachings of a religion or view with empirical evidence.

Reason R: Revelation is an act of diving or supamatural disclosure to humans of something relating to human existence.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Aand R are correct and R is the correct explanation of A.

2. Both Aand R are correct but R s NOT the correct explanation of A.
3. Ais correct but R is not correct

4 Ais not correct but R is correct



Options :

878270160581. 1
878270160582. 2
878270160583. 3
878270160584. 4

Question Number : 136 Question Id : 87827040884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160581. 1
878270160582. 2
878270160583. 3

878270160584. 4

Question Number : 137 Question Id : 87827040885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: He who knows one (religion) knows none.

Reason R: God exists *beyond” or independent of the world.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Aand R are frue and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A.
3. Alis true but R is not false.

4. Ais not false but R is true.

Options :

878270160585. 1
878270160586. 2
878270160587. 3
878270160588. 4

Question Number : 137 Question Id : 87827040885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270160585. 1

878270160586. 2

878270160587. 3



878270160588. 4

Question Number : 138 Question Id : 87827040886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The living beings have the capacity to possess all the five knowledge's including Kevalajfiana.
Reason R: Omniscient (Kevalajfiana) knows all the infinite alternatives of matter
In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Aand R are correct and R Is the correct explanation of A

2 Both Aand R are correct but R is NOT the correct explanation of A.
3. Ais correct but R is not correct

4 Ais not correct but R is correct

Options :

878270160589. 1
878270160590. 2
878270160591. 3

878270160592. 4

Question Number : 138 Question Id : 87827040886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270160589. 1

878270160590. 2

878270160591. 3

878270160592. 4

Question Number : 139 Question Id : 87827040887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
(iven below are two statements:

Statement | The foundations of the thealogy of latin Christianity were completed by Augustine of Hippo

Statement [I; Augustine’s thought was developed through three coniroversies, that with the Manicheans, that with ihe Donatists, and that with the
Pelagians.

In the light of the above statements, choose the most appropriate answer from the options given below:

1 Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | 15 corrct but Statement Il 1s incorrect
4 Statement | is incorrect but Statement Il is correct
Options:

878270160593. 1

878270160594. 2



878270160595. 3
878270160596. 4

Question Number : 139 Question Id : 87827040887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270160593. 1
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |: "‘We have sent you as mercy for the world'.

Statement II: “Today, there is no blame on you' ‘Go, you all are free’.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement || are correct

2. Both Statement | and Statement || are incorrect
3. Statement | is correct but Statement Il s incorrect
4. Statement | is incorrect but Statement Il is correct

Options :

878270160597. 1
878270160598. 2
878270160599. 3

878270160600. 4

Question Number : 140 Question Id : 87827040888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270160597. 1
878270160598. 2
878270160599. 3
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Sub-Section Number : 2
Sub-Section Id : 8782701711
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827040889 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the following Paragraph and give answer to related questions:

Acrya siddhasena has defined the instrument of valid cognition by saying *Praménasvaparabhasifianam badhvivarjitam’. He has opened the
door of independent composition of the instrument of valid cognition by way of discussing the direct, indirect, inference and the parts there of in
fis treatise nyayavatara”. Despite that, its spint seems to be of inifial age. His period is 8th-9th century V5. The system of the instrument of valid
knowledge dealt within his Taghiyastraya’ ‘nyayaviniscaya’, and pramana sangraha'is developed in its maximum extent. Manikyanandi's
“parksamukhamandana’ of 10th century extends the discussion of the instrument of valid knowledge. Acérya Vidyananda in his
‘tattvaslokavartika” has said the knowledge ascertaining the matter to be the instrument of valid knowledge. The praména (instrument of valid
knowledge| has been allocated in the later traditions of both - Svetambara and digambara. Thereafter many scholars wrote scientific treatises at
fimes. The “pramana-naya- tattvaloka” of Vadi devas(iri and “pramana-mimansa” of Hemacandra of 12th century " nyayadipika” of
dharmabhisana of 15th century - tarkabhasa of yasovijaya of 16th century are known world-wide. Apart from these, there are many ofher
scientific books waiting for publication. There are other texts also apart from these, in which. the characteristics of philosophy and the instrument
of valid knowledge have been established They are much in number

Sub questions

Question Number : 141 Question Id : 87827040890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Jainism, the instrument of valid cognition is this

1. Cognition through sense organs

2. Cognition through entire instrumental units

3. Unhindered cognition illuminating the self and the alien
4. Opposite of cognition

Options :
878270160601. 1
878270160602. 2

878270160603. 3
878270160604. 4

Question Number : 142 Question Id : 87827040891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The author of ‘Pramana-Sangraha’ is

- Siddhasena
Akalanka

- Manikyanandi
Yasovijaya

[
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Options :

878270160605. 1
878270160606. 2
878270160607. 3
878270160608. 4

Question Number : 143 Question Id : 87827040892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The name of the predecessor of Aacarya Akalanka is:

1. Acarya yasovijaya

2. Acarya Vidyanandi

3. Acarya Dharmabhdsana
4. Acarya Siddhasena
Options :

8782701606009. 1
878270160610. 2
878270160611. 3

878270160612. 4

Question Number : 144 Question Id : 87827040893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The name of the text written after "Pramana-Mim&sa’ is

1. Nyayaviniscaya
2. Nyayabhasya
3. Nyayavatara

4 Nyayadipika
Options :
878270160613. 1
878270160614. 2
878270160615. 3

878270160616. 4

Question Number : 145 Question Id : 87827040894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



This Svetamber scholar was the author of a treatise on the instrument of valid cognition:

1. Akalanka

2. Vadidevasdari
3. Vidyananda

4 5iddhasena

Options :
878270160617. 1
878270160618. 2

878270160619. 3

878270160620. 4

Question Id : 87827040889 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827040890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160601. 1
878270160602. 2
878270160603. 3
878270160604. 4

Question Number : 142 Question Id : 87827040891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270160605. 1
878270160606. 2
878270160607. 3

878270160608. 4

Question Number : 143 Question Id : 87827040892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160609. 1
878270160610. 2
878270160611. 3

878270160612. 4

Question Number : 144 Question Id : 87827040893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270160613. 1
878270160614. 2
878270160615. 3

878270160616. 4

Question Number : 145 Question Id : 87827040894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270160617. 1
878270160618. 2
878270160619. 3

878270160620. 4

Sub-Section Number : 3
Sub-Section Id : 8782701712
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827040895 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the given passage and answer the questions that follow:

Constantine summoned in 325 A. D the Council of Nicaea, the first of the ecumenical councils. [t adopted the Nicene definition of the nature of
the Son, declaring that he is of one substance with the Father. Theodosius | called the first Council of Constantinople in 361 A.D . It reaffirmed
the Nicene declaration as to the Son's nature and declared that the Holy Spiri proceeds from the Father.

Anather controversy arose batween the school of Antioch and that of Alexandria early in the next century. The Antiochians held that Christ had
two natures, a diving and a human; the Alexandrians held that after the incamation, the two natures became one divine nature.

The third ecumenical council, called by Theodosius Il met alt Ephesus in 433A.D to settle this matter. but each of which condemned the ofher.
The Council of Chalcedon in 451 A.D. sought o solve the difficutty but its definition safisfied neither of the extremes.

The Monaphysites, who believed in one nature, separated from the Church. These form the Egyptian (or Coptic), the Abyssinian and the
Amenian Churches.

The radical Dyaphysites, who believed in two natures, also separated and formed what s known as the Nestorian Church. In 553A.D, inthe
reign of Justinian &t the second Council of Constantinople, the works of Theodore of Mopsuestia, the real thinker of the Dyophysite party was
condemned. The third Council of Constantinople was held in 680 AD. The last of the ecumenical councils, the Second Council of Nicaea, in 767
AD, sanctioned the use of pictures and images in churches.

Sub questions

Question Number : 146 Question Id : 87827040896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the thinker whose works were condemned by the Second Council of Constantinople in 533 AD

1. Alexander

2. Plato

3. Aristotle

4 Theodore of Mopsuestia

Options :

878270160621. 1
878270160622. 2
878270160623. 3

878270160624. 4

Question Number : 147 Question Id : 87827040897 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

This ecumenical council declared that the Holy Spirit proceeds from the Father. Identify the council

uncil of Nicaea

uncil of Ephesus

. Second Council of Constantinople
. First Council of Constantinople

i
L0
i
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e

Options :

878270160625. 1
878270160626. 2
878270160627. 3

878270160628. 4

Question Number : 148 Question Id : 87827040898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ldentify the emperor who summoned the Council of Nicaea in 325 C.E.

1. Theodosius |

2 Constantine

3. Theodosius |l
4 Justinian
Options :
878270160629. 1
878270160630. 2
878270160631. 3

878270160632. 4

Question Number : 149 Question Id : 87827040899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the place where the Emperor Theodosius | convened the ecumenical council in 381 A.D

1. Nicaea

2. Constantinople

3. Ephesus

4 Jerusalem
Options :
878270160633. 1
878270160634. 2
878270160635. 3

878270160636. 4

Question Number : 150 Question Id : 87827040900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the ecumenical council that sanctioned the use of pictures and images in Churches

Council at Ephesus
econd Council of Nicaea
uncil at Constantinople

i
2
3. Co
ouncil of Chalcedon

S

c
4 C
Options :
878270160637. 1
878270160638. 2
878270160639. 3

878270160640. 4

Question Id : 87827040895 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827040896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160621. 1
878270160622. 2
878270160623. 3
878270160624. 4

Question Number : 147 Question Id : 87827040897 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270160625. 1
878270160626. 2
878270160627. 3
878270160628. 4

Question Number : 148 Question Id : 87827040898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270160629. 1
878270160630. 2
878270160631. 3

878270160632. 4

Question Number : 149 Question Id : 87827040899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270160633. 1
878270160634. 2
878270160635. 3

878270160636. 4

Question Number : 150 Question Id : 87827040900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270160637. 1
878270160638. 2
878270160639. 3

878270160640. 4



